University of Alberta Department of Civil & Environmental Engineering

Structural Engineering Report No. 268

Measurement of Slip Coefficient for Grade ASTM A588 Steel

by

THRSITY OF

Joseph Stankevicius

Georg Josi

Gilbert Y. Grondin

and

Geoffrey L. Kulak

June, 2009

Measurement of Slip Coefficient for Grade ASTM A588 Steel

by

Joseph Stankevicius Georg Josi Gilbert Y. Grondin and Geoffrey L. Kulak

Structural Engineering Report 268

Department of Civil and Environmental Engineering University of Alberta Edmonton, Alberta, Canada

June 2009

ABSTRACT

An investigation of the slip coefficient of Grade ASTM A588 steel was carried out using a total of 99 tension double lap splice joints. The test parameters included the effect of steel heat, faying surface condition, level of bolt pretension, bolt hole diameter (regular size and oversize) and bolt hole fabrication method on the slip coefficient. The test specimens consisted of 1/2-in. or 5/8-in. main plates with double splice plates of the same thickness as the main plates. One end of the test specimens was prepared with a one-bolt joint and the other end with two bolts. Pre-calibrated centre-hole load cells were used to measure the bolt pretension directly, which was introduced by turning the nut. The double lap splice joints were loaded in axial tension and the load and deformation were continuously monitored in the test until either bolt shear failure or plate bearing failure took place.

The test results showed no significant effect of the level of bolt pretension *per se*, bolt hole fabrication, or bolt hole diameter on the slip coefficient. However, the test results suggest that the preparation of the faying surface has a significant effect on the slip coefficient; as-received faying surfaces with loose particles removed before joint assembly showed a lower slip coefficient than degreased faying surfaces. The steel heat also seems to affect the slip coefficient.

The results were close to the mean slip coefficient proposed in *Specification for Structural Joints Using ASTM A325 or A490 Bolts* [RCSC 2004] for clean mill scale faying surfaces, but showed a substantially higher slip coefficient than determined in another study on A588 steel [Yura *et al.* 1981].

ACKNOWLEDGEMENTS

This project was funded by the Natural Sciences and Engineering Research Council of Canada through research grants to the two senior authors and an undergraduate summer scholarship to the first author. The test specimens were prepared by Empire Iron Works.

TABLE OF CONTENTS

1.	Introduction						
2.	2. Experimental Program						
2	2.1	Introduction	3				
2	2.2	Investigated Parameters	3				
	2.2.	1 Introduction	3				
	2.2.2	2 Steel Heat	3				
	2.2.3	3 Condition of Faying Surfaces	4				
	2.2.4	4 Bolt Pretension	4				
	2.2.5	5 Bolt Hole Clearance	5				
	2.2.0	6 Bolt Hole Fabrication	5				
2	2.3	Test Setup, Specimen Preparation and Assembly	6				
2	2.4	Test Matrix	10				
2	2.5	Instrumentation	11				
3.	Test	Results	14				
3	8.1	Introduction	14				
3	8.2	Definition of Slip Load	14				
3	8.3	Results	17				
4.	Ana	lysis of Test Results	19				
4	.1	Introduction	19				
4	.2	Comparison between One-Bolt and Two-Bolt Joint Test Results	20				
4	.3	Comparison between the Two Steel Heats	20				
4	.4	Effect of Faying Surface Preparation	22				
4	.5	Effect of Level of Bolt Pretension	22				
4	.6	Effect of Bolt Hole Size					
4	.7	Effect of Bolt Hole Fabrication Process	24				
4	.8	Comparison with Other Test Results	25				
4	.9	Summary					
5.	Sum	mary, conclusions, and future work					
5	5.1	Summary and Conclusions					

5.2	Future Work	. 29
Reference	es	. 30
Appendix	A: Load vs. deformation Curves	. 33
Appendix	B: Detailed Test Results	133
Appendix	C: Statistical Tests	136
C.1	Introduction	136
C.2	Comparison of Mean Values Using the Student <i>t</i> -Test	136
C.3	Comparison of Variances Using the <i>F</i> -Test	137
C.4	Sample Calculation for the Comparison btw the One- and Two-Bolt Joints .	138
Appendix	x D: Failure of joints by bolt shear or plate bearing	140
D.1	Introduction	140
D.2	Reliability Analysis Theory	141
D.3	Bearing Failure	144
D.4	Bolt Shear Failure	155

LIST OF ABBREVIATIONS AND SYMBOLS

ABBREVIATIONS

AISC	American Institute of Steel Construction INC.
ANSI	American National Standards Institute
ASTM	American Society for Testing and Materials
CISC	Canadian Institute of Steel Construction
CSA	Canadian Standards Association
DOF	Degrees of Freedom
LVDT	Linear Variable Differential Transformer
RCSC	Research Council on Structural Connections
U of A	University of Alberta
UTM	Universal Testing Machine

SYMBOLS

A_b	nominal cross sectional area of a bolt
B_r	factored bearing resistance
$B_{r,predicted}$	predicted bearing failure load
С	resistance adjustment factor
D	dead load
d	diameter of the bolt(s)
Ε	modulus of elasticity
F_u	ultimate strength
F_u	specified minimum tensile strength of the bolt(s) or connected material
F_{y}	yield strength
h_{sc}	oversize hole reduction factor
L	live load
m	number of shear planes
N_b	number of bolts

N_s	number of slip planes
P_{slip}	slip load determined as outlined in Section 3.2
$\bar{\mathcal{Q}}$	mean value of total load effect
$ ilde{\mathcal{Q}}$	nominal total load effect
\overline{R}	mean resistance value
Ĩ	nominal resistance value
R _{slip}	slip resistance
T_b	total bolt pretension
$T_{b,i}$	pretension in bolt <i>i</i>
V_A	bolt area coefficient of variation
V_D	dimension coefficient of variation
V_Q	coefficient of variation of the total load effect
V _R	coefficient of variation of the resistance
V_{d}	bolt diameter coefficient of variation
V_m	material property coefficient of variation
V_p	design equation coefficient of variation
V_r	factored bolt shear resistance of the connection
$V_{r,predicted}$	predicted bolt shear failure load
V_t	specimen thickness coefficient of variation
t	thickness of the connected material
α	level of significance; separation factor in reliability analysis
lpha'	load factor
α_Q	load effect separation factor
α_R	resistance separation factor
β	safety index
${\cal E}_{SH}$	strain at beginning of strain hardening

\mathcal{E}_r	strain at failure
μ	slip coefficient between the faying surfaces
μ_{av}	mean slip coefficient
$ ho_{\scriptscriptstyle A}$	bolt area bias coefficient
$ ho_{\scriptscriptstyle D}$	dimension bias coefficient
$ ho_{\it Q}$	load effect bias coefficient
$ ho_R$	resistance bias coefficient
$ ho_{_d}$	bolt diameter bias coefficient
$ ho_{\scriptscriptstyle m}$	material property bias coefficient
$ ho_p$	bias coefficient or professional factor
$ ho_t$	specimen thickness bias coefficient
σ	standard deviation
$\sigma_{c}{}^{2}$	combined population variance of two samples
ϕ	resistance factor
$\phi_{\scriptscriptstyle b}$	resistance factor for bolts
ϕ_{br}	resistance factor for bearing of bolts on steel

1. INTRODUCTION

The slip resistance of bolted connections is a function of the slip coefficient of the faying surfaces, the number of slip planes, and the total clamping force on the joint, which is equal to the sum of the pretension in all the bolts. These parameters appear directly in the following equation used to calculate the slip resistance of a bolted joint:

$$R_{slip} = \mu N_s \sum_{i=1}^{N_b} T_{b,i}$$
(1)

where

 R_{slip} : slip resistance

μ	:	slip coefficient for the faying surfaces
N_s	:	number of slip planes
N_b	:	number of bolts
$T_{b,i}$:	pretension in bolt <i>i</i>

The bolt pretension is usually assumed to be identical in all bolts, which allows Equation (1) to be simplified to

$$R_{slip} = \mu N_s N_b T_b \tag{2}$$

Equation (2) shows that for a given joint geometry, i.e., number of slip planes and bolts are known, the slip resistance of the joint depends solely on the slip coefficient, μ , and the bolt pretension, T_b . The *Specification for Structural Joints Using ASTM A325 or A490 Bolts* [RCSC 2004], subsequently referred to as the RCSC Specification, requires that the minimum bolt pretension, T_b , be equal to at least 70% of the minimum tensile strength of the bolt. The slip coefficient, μ , is provided in the RCSC Specification for three faying surface conditions: 1) uncoated clean mill scale steel surfaces or surfaces with Class A coatings on blast-cleaned steel, for which $\mu = 0.33$; 2) uncoated blastcleaned steel surfaces or surfaces with Class B coatings on blast-cleaned steel, for which $\mu = 0.50$; and 3) roughened hot-dip galvanized surfaces, for which $\mu = 0.35$. These values have been adopted in the current edition of CAN/CSA–S16–01 [CSA 2001], whereas the AISC Specification [AISC 2005] has grouped Class A and Class C surfaces together and uses a slip coefficient of 0.35 for both types of surfaces. These slip coefficients were determined through statistical analyses on a large number of slip test results, as summarized in Kulak *et al.* [1987].

According to the RCSC Specification, the slip coefficient is not a function of the type of steel. However, in one test program on ASTM Grade A588 steel with clean mill scale surfaces the mean slip coefficient obtained was only 0.23 [Yura et al. 1981]. This is substantially lower than the value of 0.33 specified in the current RCSC Specification. A588 steel is an atmospheric corrosion resistant steel (weathering steel), widely used in highway and railway bridges, where, because of fatigue considerations, bolted connections have to be designed as slip-critical. Furthermore, A588 steel satisfies the chemical and mechanical requirements of other structural steels, making A588 steel a logical substitute for other steels. Since A588 steel is used as a substitute to other structural grade steels without notice, it is implied that slip-critical connections with clean mill-scale should be designed with a slip coefficient of 0.23. This lower slip coefficient results in approximately 30% more bolts if the slip resistance governs the design. However, because only one set of A588 tests has been conducted, it was deemed necessary to carry out more slip tests on plates with A588 clean mill scale faying surfaces. Since the tests by Yura et al. [1981] on blast-cleaned A588 steel surfaces resulted in slip coefficients similar to those for other steel grades, no tests on blastcleaned surfaces with other steels were carried out in the present study.

The current report presents additional slip tests on A588 steel plates carried out in the Structures Laboratory at the University of Alberta. Chapter 2 of the report outlines the experimental program. This is followed by a presentation of the test results in Chapter 3, which are then analyzed in Chapter 4. A summary with conclusions and recommendations for future work are presented in Chapter 5.

2. EXPERIMENTAL PROGRAM

2.1 Introduction

The experimental program was designed to provide a statistically significant data set from which a statistical analysis could be conducted. Several parameters that might affect the slip coefficient of A588 steel faying surfaces were investigated. These are outlined in Section 2.2. Section 2.3 presents a description of the test set up used for all tests. The test matrix is presented in Section 2.4 and Section 2.5 describes the instrumentation used to determine the slip load and the bolt pretension.

2.2 Parameters Investigated

2.2.1 Introduction

According to the RCSC Specification, the slip resistance of a bolted connection with clean mill scale faying surfaces and a given geometry (number of slip planes and number and type of bolts and bolt hole clearance) is uniquely defined by equation (2). However, several investigations, summarized in Kulak *et al.* [1987], have shown that other parameters might affect the slip behaviour of a joint. Several of the more controversial ones were examined in this study and they are as follows:

- Steel heat (for a given grade);
- Condition of the so-called clean mill scale faying surfaces;
- Effect of level of bolt pretension on surface roughness;
- Bolt hole clearance;
- Fabrication method used for the bolt hole, i.e., drilled versus punched.

2.2.2 Steel Heat

Vasarhelyi and Chiang [1967] have shown that the slip coefficient varies slightly for different steels and steel heats. This has been attributed to the condition under which the

mill scale forms and the chemical composition of the steel, which varies between heats. However, it does not seem to have any simple relation to the mechanical properties of the steel. Rather, it is affected by the steel making process, which is controlled by the individual mill. In order to include the possibility that the condition of the mill scale might affect the test results, in this program two sets of plates were ordered, each from a different mill. These two sets are differentiated by their respective plate thicknesses of 1/2-in. and 5/8-in.

2.2.3 Condition of Faying Surfaces

Most tests used to determine the slip coefficient presented in the RCSC Specification were conducted with surfaces wherein the loose mill scale and dirt was removed by light hand wire brushing and the grease was dispersed with a solvent [Kulak and Fisher 1985]. However, consultation with local steel fabricators revealed that often only light wire brushing is applied, which does not remove the water soluble oil used for hole drilling. It is often assumed that the oil-laden cutting fluid used in the drilling process will evaporate before the joints are assembled. For the tests conducted in the present study, the fabricator was instructed to deliver the plates as they would be prepared for any slip-critical connection, with the exception that any fabrication burrs be left in place. These were removed by the researchers once the plates were delivered. The researchers made sure that burr removal was done without damaging the condition of the mill-scale around the bolt holes. As was expected, the oil on the as-received plates was still present, especially around the bolt holes. In order to obtain consistent test results, it was decided to remove the oil using a solvent (a common glass cleaner), with the exception of some plates that were left in the as-received condition.

The plates were stored in stacks in the laboratory and tested within one month of delivery. No information concerning the storage before delivery could be retrieved.

2.2.4 Bolt Pretension

It is evident from equation (2) that the level of bolt pretension affects the slip resistance, R_{slip} , of a joint. Furthermore, it is conjectured that the slip coefficient, μ , may decrease for bolt pretension higher than 70% of the tensile strength of the bolts [Barakat *et al.* 1984]. This has been attributed to local deformations around the bolt holes, which reduce the roughness of the faying surface. The 70% of tensile strength requirement of the RCSC Specification is a minimum requirement. It is well known that most pretension methods result in a higher average pretension, almost reaching the tensile strength of the bolt for the turn-of-nut method [Kulak *et al.* 1987]. Since the RCSC Specification does not make an allowance for a reduction in slip coefficient because of higher pretension, the finding by Barakat *et al.* [1984] was investigated in the present study by performing several tests in which the pretension was 90% of the bolt nominal tensile strength.

2.2.5 Bolt Hole Clearance

In order to facilitate erection, holes are often oversized. The RCSC Specification gives maximum clearances for oversized holes as a function of the bolt diameter. If oversized holes are used, a reduction factor of 0.85 must be applied to the slip resistance. This reduction in slip resistance is partly attributed to a possible reduction in bolt pretension if the turn-of-nut method of installation is used, or to a change in contact surface stresses around the bolt hole. However, several studies have shown that when the requirements for oversize in the RCSC Specification are respected, no reduction in slip coefficient is observed [Chesson and Munse 1964; Allan and Fisher 1968; Frank and Yura 1981]. In order to confirm these observations, tests specimens were prepared with oversized holes. It must be noted that since bolt pretension was measured directly (see Section 2.5) only the possible effect of local conditions around the bolt holes was investigated here.

2.2.6 Bolt Hole Fabrication

Bolt holes are either drilled or punched. (In some situations, holes can be sub-punched and reamed, but this is not common practice today.) The slip coefficients in the RCSC Specification do not account for the method of hole fabrication. To explore the relationship between the method of bolt hole fabrication and the slip coefficient, ten specimens for each plate thickness were prepared with punched holes. Normally, a higher slip coefficient is expected for these specimens compared to the specimens with drilled holes. The reasons for this are the absence of cutting fluid around the bolt holes and the presence of a shear lip around the perimeter of the punched hole, which could provide some interlock between the faying surfaces. For the present study, drilled holes were deburred in the Laboratory using a countersink tool and the oil was removed from the test specimens. The punched holes were lightly touched with the countersink tool to ensure that any small burrs were removed, but leaving the shear lip intact.

2.3 Test Setup, Specimen Preparation and Assembly

All tests were carried out on double lap joints loaded in tension. The specimen geometry is shown in Figure 1. The thickness of the main and splice plates, t, was either 1/2-in. or 5/8-in. (see Section 2.4).



Figure 1 – *Specimen geometry.*

The specimens consisted of a one-bolt joint on one end and a two-bolt joint on the other end. This arrangement was chosen in order to be able to identify two distinct slip loads and thus two results for the slip coefficient evaluation in a single test. The tests were carried out in a universal testing machine (UTM) with a maximum static capacity of 1000 kN (see Figure 2).

The first 11 tests were conducted under stroke control for the entire duration of the tests. However, this resulted in gradual slips, which made the determination of the slip load difficult. Subsequent tests were conducted under load control up to the slip of the two– bolt joint. The tests were then completed in stroke control up to failure of the specimens, either by bolt shear or plate bearing failure. This procedure showed a much more sudden slip for most of the tests and still produced valid results for the ultimate strength of the specimens.



Figure 2 – Test set-up.

All plates were cut and the holes drilled or punched by a local fabricator. The fabricator was instructed to prepare the plates as they would be prepared for any slip-critical joint with clean mill scale faying surface, with the exception that no deburring was to be done in the shop. Deburring in a fabricating shop is usually done by light grinding around the bolt holes, which can remove the mill scale around the holes. Once the plates were delivered to the I. F. Morrison Structures Laboratory, the burrs from cutting of the plates and drilling or punching were carefully removed by light grinding around the perimeter of the plates and by using a countersink tool for the bolt holes. The plates were then cleaned with a glass cleaner to remove any oil and grease on the faying surfaces before the test specimens were assembled, except for the plates being tested in the as-received condition.

The bolts used for all the test specimens were 3/4 in. dia. A325. Before the bolts were tightened to the required pretension, the specimens were set up such that all bolts were in negative bearing (bearing with the plates in the direction opposite to the applied load). This ensured that significant displacement would take place in the joint when slip took place, making slip detection easier.

Tension coupons and material samples for chemical analyses were obtained from plates of the same heat as the test specimens in order to confirm that the steel plates were ASTM Grade A588. Figure 3 shows the engineering stress vs. strain curve for the three tested tension coupons of each plate. The mechanical properties (static yield strength, F_y , static ultimate strength, F_u , modulus of elasticity, E, strain at onset of strain hardening, ε_{SH} , and strain at rupture, ε_r) obtained from these curves are summarized in Table 1. The minimum required strength properties specified by ASTM A588 [ASTM 2005b] for F_y and F_u are listed in the last row of the table. The results of the chemical analysis for the two plates are presented in Table 2. The table also shows the required limits from the ASTM Standard for A588 Grade B steel.



Figure 3 – Engineering stress vs. strain curve for the tested tension coupons.

Plate	Tension Coupon	σ _y [MPa]	σ_u [MPa]	E [MPa]	<i>E</i> _{SH} [%]	<i>E</i> _r [%]
1/2-in.	4.1	355	504	211,000	0.5	38
	4.2	350	501	209,000	0.6	37
	4.3	354	496	214,000	0.8	38
5/8-in.	5.1	431	569	216,000	1.9	
	5.2	428	567	214,000	1.7	36
	5.3	430	568	211,000	1.9	38
ASTM A588	Min. req.	345	485			

Table 1 – *Results of tension coupon tests of the two plates.*

From a comparison of the measured strengths and chemical compositions with the required values in ASTM A588, it can be concluded that both plates meet the requirements for Grade ASTM A588 steel. Furthermore, the measured properties

correspond to the mill test certificates that were provided with the plates by the fabricator.

Element	ASTM A588 Requirements	1/2-in. Plates	5/8-in. Plates	
Carbon	0.20 max	1)	1)	
Manganese	0.75 – 1.35	1.06	0.94	
Phosphorus	0.04 max	0.015	0.013	
Sulfur	0.05 max	0.022	0.023	
Silicon	0.15 - 0.50	0.35	0.23	
Nickel	0.50 max	0.19	0.16	
Chromium	0.40 - 0.70	0.50	0.43	
Copper	0.20 - 0.40	0.28	0.26	
Vanadium	0.01 – 0.10	0.035	0.037	

Table 2 – *Results of chemical analyses of the two plates (in % wt).*

1) Due to contamination resulting from inadequate storage of the samples the carbon content could not be determined from the samples.

2.4 Test Matrix

Plates for 100 specimens were fabricated. One test specimen was damaged during setup and could not be tested, leaving 99 tests to be analyzed. The test program started with 1/2-in. plate specimens with degreased faying surfaces, 70% bolt pretension and regular size drilled holes (diameter 1/16-in. larger than the bolt diameter). These tests were carried out until the problem of slip detection was resolved by changing from stroke control to load control during testing. This resulted in a total of 14 tests with the same preparation parameters on the 1/2-in. plates. All other series of tests consisted of 10 replicate tests with the same combination of test parameters, with the exception of the higher pretension tests on the 1/2-in. plates, which were only repeated five times. The test matrix is shown in Table 3. All tests on the 1/2-in. plates were designated with the

number 4 (= 4/8-in.) and all tests with the 5/8-in. plates with the number 5 as the first digit. The letter used in the series designation refers to the investigated parameter: N for normal, or reference, test; S for specimens with as-received faying surfaces; T for specimens with bolts with higher pretension; D for specimens with oversized holes; and P for specimens with punched holes. Since no cutting fluid was used on the plate specimens with punched holes, no degreasing of these surfaces was performed.

Series	No. of Tests	Plate Thickness	Faying Surface	Bolt Pretension	Hole Clearance	Hole Fabrication
4 N	14	1/2-in.	degreased	70%	1/16-in.	drilled
4 S	10	1/2-in.	as-received	70%	1/16-in.	drilled
4 T	5	1/2-in.	degreased	90%	1/16-in.	drilled
4D	10	1/2-in.	degreased	70%	3/16-in.	drilled
4 P	10	1/2-in.	as-received	70%	1/16-in.	punched
5N	10	5/8-in.	degreased	70%	1/16-in.	drilled
5 S	10	5/8-in.	as-received	70%	1/16-in.	drilled
5 T	10	5/8-in.	degreased	90%	1/16-in.	drilled
5D	10	5/8-in.	degreased	70%	3/16-in.	drilled
5P	10	5/8-in.	as-received	70%	1/16-in.	punched

Table 3 – Test matrix.

2.5 Instrumentation

In order to calculate the slip coefficient the total bolt pretension and the slip load must be measured accurately. Bolt pretension was measured directly with calibrated load cells. These load cells were inserted between the nut and the plates at each bolt location, as illustrated in Figure 4.



Figure 4 – Detail of an installed load cell.

The stroke and load from the universal testing machine (UTM) were recorded using a data acquisition system. Pilot tests showed that it was possible to determine the slip, and thus the slip load, of the one-bolt joint from these readings. However, the observation of the slip on the two-bolt joint was not as obvious and it was decided to monitor the displacement of the joint with a variable differential transformer (LVDT) on one side of the joint, as is illustrated in Figure 5.



Figure 5 – *Detail of the LVDT used on the two–bolt joint to determine the slip.*

3. TEST RESULTS

3.1 Introduction

The slip coefficient was obtained from the measurements of the slip load and the total bolt pretension. The bolt pretension was readily attainable from the load cell data. However, the definition of the slip load was not always straightforward because in some tests a gradual slip occurred instead of a sudden slip. Furthermore, some specimens showed more than two significant slips. Thus a consistent definition of the slip load had to be established. This is discussed in Section 3.2. The test results, i.e., the calculated mean values and standard deviations of the slip coefficient for each test series, are presented in Section 3.3.

3.2 Definition of Slip Load

Figure 6 illustrates three representative displacement vs. load curves. Curve 1 shows sudden slip at two load levels, the lower one for the one-bolt joint and the higher one for the two-bolt joint. In this case, the slip loads are clearly P_1 for the one-bolt joint and P_2 for the two-bolt joint.

Curve 2 shows two gradual slips. The following procedure was used to establish the slip load. The linear part of the curve before slip occurs was extended (lines 1A and 2A) and a line tangent to the part where the curve becomes quasi linear again, but is still slipping (lines 1B and 2B), was drawn. The intersection points of the two lines (1A – 1B and 2A – 2B, respectively) was taken as the slip loads P_1 for the one–bolt joint and P_2 for the two– bolt joint. This procedure ensured a consistent definition of the slip load for both joints of the connection and for specimens with and without oversized holes. Furthermore, checks showed that the same slip loads were obtained when the LVDT vs. UTM load curves were used instead of the UTM displacement vs. UTM load curves, therefore confirming the validity of the approach used to determine the slip load from load curves similar to curve 2.



Figure 6 – Definition of slip load from UTM displacement vs. UTM load curves.

Curve 3 shows three slips. The most probable explanation for this behaviour is illustrated in Figure 7, which shows the one-bolt joint. Initially, the load is entirely transferred through friction between the main plate and the splice plates and the bolt in negative bearing on all three plates (Figure 7a). As the load exceeds the slip resistance of the main plate against the splice plates, the main plate moves by an amount $slip_{1,1}$ in the direction of loading (Figure 7b). At this point the main plate slips into bearing while the position of the splice plates relative to the bolt remains the same since the friction between the splice plates and the washer and load cell prevents slip between the splice plates and the bolt. Slippage stops once the main plate comes into positive bearing with the bolt. At this stage the slip resistance between the three plates has been overcome and the slip load of the one-bolt connection, P_1 , is reached. Upon further loading, the slip resistance between the splice plates and the washer and load cell is overcome and the main plate moves with the bolt by an amount $slip_{1,2}$ in the direction of loading (Figure 7c), resulting in positive bearing of all three plates. This stage does not correspond to a relevant slip load. The two-bolt joint only slips at a higher load, P_2 . It would be expected that the same phenomenon as for the one-bolt joint, i.e., first a slip between the main plate and the splice plates, followed by a slip between the splice plates and the washer and load cell should occur. However, at the load P_2 the one-bolt joint is stressed to such an extent that local plastic deformations in the bolt and main plate have started to take place, resulting in a reduction of the overall stiffness of the specimen. This reduction becomes so pronounced that the slip between the splice plates and the washer and load cell, respectively, can no longer be detected.



Figure 7 – Illustration of slip sequence on one-bolt joint.

Using the definitions of the slip loads described above, it was possible to determine all 99 slip loads on the one-bolt joint. However, no clear slip could be defined in eight cases of the two-bolt joints, therefore yielding only 91 test results for this configuration.

3.3 Results

From equation (2) the slip coefficient, μ , can be calculated as follows:

$$\mu = \frac{P_{slip}}{N_s T_b} \tag{3}$$

where P_{slip} : slip load determined as outlined in Section 3.2

- N_s : number of slip planes, $N_s = 2$
- T_b : total bolt pretension (bolt 1 for one-bolt joint, bolt 2 + bolt 3 for two-bolt joint)

The bolt pretension was determined from the initial readings at the start of the test. Although bolt pretension decreased over the entire test, it remained relatively constant until slip took place. Therefore, only the initial pretension is relevant in the calculation of the slip coefficient. As expected, all bolts showed a marked drop in pretension once they were in bearing. Furthermore, the one-bolt pretension decreased substantially because of the plastic deformations that took place prior to failure of the connection.

The mean value of the slip coefficient, μ_{av} , and the standard deviations, σ , for each test series are summarized in Table 4. The individual load vs. deformation curves for all 99 tests are presented in Appendix A. The individual test results are presented in Appendix B. The results and analyses of the failure loads (governed by either shearing of the bolt or bearing failure of the main plate) are presented in Appendix D.

Series	1-Bolt Joint			2-Bolt Joint			Parameter Investigated
	results	μ_{av}	σ	results	μ_{av}	σ	
4N	14	0.40	0.056	8	0.35	0.018	Regular size drilled holes with degreased faying surfaces and 0.7 F_u pretension
4 S	10	0.32	0.022	10	0.29	0.028	As-received faying surfaces
4 T	5	0.39	0.039	5	0.31	0.031	Bolt pretension of 0.9 F_u
4D	10	0.35	0.060	10	0.31	0.030	Oversized holes
4 P	10	0.35	0.016	10	0.38	0.038	Punched holes
5N	10	0.40	0.049	9	0.47	0.061	Regular size drilled holes with degreased faying surfaces and 0.7 F_u pretension
5 S	10	0.37	0.054	10	0.37	0.034	As-received faying surfaces
5 T	10	0.45	0.061	9	0.45	0.039	Bolt pretension of 0.9 F_u
5D	10	0.43	0.052	10	0.47	0.059	Oversized holes
5P	10	0.40	0.036	10	0.47	0.066	Punched holes

Table 4 – Mean, μ_{av} , and standard deviation, σ , of the slip coefficient, μ , for each test series.

The mean slip coefficient and standard deviation for all 190 test results are 0.39 and 0.0071, respectively.

4. ANALYSIS OF TEST RESULTS

4.1 Introduction

A statistical analysis of the test results was conducted in order to determine whether they could be grouped into one sample or whether some of the results needed to be treated separately. For this analysis it is assumed that the data from each test series follow a normal distribution. The two-sided Student *t*–Test and the two-sided *F*–Test were used to compare the mean values and the standard deviations, respectively [Kennedy & Neville 1986]. From the results of each of the two tests a so-called level of significance, α , is obtained. If this level of significance is smaller than a reference level of significance, the hypothesis that the compared mean values (in the case of the Student *t*–Test) or standard deviations (in the case of the *F*–Test) of the two samples are significantly different has to be rejected. In other words, if the level of significance is large enough, the difference between the two samples is statistically insignificant. Since the variability in test results for the slip coefficient of clean mill scale faying surfaces is usually large [Kulak *et al.* 1987], the boundary between insignificant and significant statistical differences is difficult to define. Therefore four degrees of difference as a function of the obtained levels of significance, α , are assigned here:

Significant	for	$\alpha < 1.0\%$
• Moderate	for	$1.0\% \leq \alpha < 2.5\%$
• Small	for	$2.5\% \le \alpha < 5.0\%$
 Insignificant 	for	$\alpha \ge 5.0\%$

It is important to recall that a perfect match in a two-sided test leads to a level of significance $\alpha = 100\%$.

Based on the results from the t- and F-tests, the following sections compare the results from the one-bolt joints to the two-bolt joints (Section 4.2) and the two steel heats (Section 4.3). Furthermore the effects of the faying surface preparation (Section 4.4), the amount of pretension (Section 4.5), the hole clearance (Section 4.6), and the method of hole fabrication (Section 4.7) are assessed. Finally, the results are compared to the data

reported by Yura *et al.* [1981] and data obtained from other steel types reported by Kulak *et al.* [1987] (Section 4.8). The comparisons are presented in tabulated form, listing the calculated F- (for the standard deviations) and t-value (for the means), the obtained level of significance, α , and the assigned degree of difference between the two compared samples.

More details about the two statistical tests and a sample calculation are presented in Appendix C.

4.2 Comparison between One-Bolt and Two-Bolt Joint Test Results

Each set of the one-bolt and the two-bolt connections having the same parameters were compared. Table 5 presents the results of the statistical tests.

Comparison Between	St	andard D	eviation	Mean Value			
	F	α (%)	Level	t	α (%)	Level	
One– and Two –Bolt	1.97	0.11	Significant	0.48	63.2	Insignificant	

Table 5 – *Comparison between the one–bolt and two–bolt joint test results.*

Based on the t-test it can be concluded that the mean values of the two sets of results do not show a significant difference. However, their standard deviations are significantly different.

4.3 Comparison between the Two Steel Heats

Each set of the 1/2-in. and 5/8-in. plate specimens having the same parameters were compared to assess the effect of the two different heats. Table 6 presents the results of the statistical tests.

Comp.	S	tandard D	Deviation	Mean Value			
Between	F	α (%)	Level	t	α (%)	Level	
4N One and 5N One	1.27	73.4	Insignificant	0.28	78.0	Insignificant	
4N Two and 5N Two	11.1	0.48	Significant	5.75	3.8x10 ⁻³	Significant	
4R One and 5R One	6.05	1.31	Moderate	2.82	1.13	Moderate	
4R Two and 5R Two	1.44	59.9	Insignificant	5.58	2.7x10 ⁻³	Significant	
4T One and 5T One	2.42	40.9	Insignificant	1.70	11.3	Insignificant	
4T Two and 5T Two	1.54	71.3	Insignificant	7.09	1.3x10 ⁻³	Significant	
4D One and 5D One	1.32	68.4	Insignificant	3.00	0.77	Significant	
4D Two and 5D Two	3.92	5.4	Insignificant	7.89	3.0x10 ⁻⁵	Significant	
4P One and 5P One	5.17	2.2	Moderate	3.91	0.10	Significant	
4P Two and 5P Two	3.01	11.6	Insignificant	3.63	0.19	Significant	

Table 6 – *Comparison between each set of the 1/2-in. and 5/8-in. plate specimens.*

Although a few comparisons show that the mean values do not differ significantly, examination of the test data shows a clear tendency for the 5/8-in. plates to have a significantly higher slip coefficient than the 1/2-in. plates. The standard deviations generally correspond well.

4.4 Effect of Faying Surface Preparation

The effect of the faying surface preparation, i.e. degreased clean mill scale versus asreceived clean mill scale, was assessed by comparing the N–Series to the S–Series. Table 7 presents the results of the statistical tests.

Comp. Between	St	andard Do	eviation	Mean Value		
	F	α (%)	Level	t	α (%)	Level
4N One and 4R One	6.5	0.82	Significant	4.64	1.3x10 ⁻²	Significant
4N Two and 4R Two	2.43	25.4	Insignificant	4.99	1.3×10^{-2}	Significant
5N One and 5R One	1.18	80.7	Insignificant	1.23	23.3	Insignificant
5N Two and 5R Two	3.16	10.6	Insignificant	4.86	1.5x10 ⁻²	Significant

Table 7 – *Statistical evaluation of the effect of faying surface preparation.*

With the exception of the one-bolt joints with 5/8-in. plates, all joints show a significant difference in mean slip coefficient between the degreased and the as-received plates. For all samples the degreased specimens show a higher mean slip coefficient. Therefore, the present investigation indicates that the surface preparation has a rather strong effect on the slip coefficient. With the exception of the one-bolt 1/2-in. plate joints, the standard deviations show insignificant difference at a level of confidence of 5%.

4.5 Effect of Level of Bolt Pretension

The effect of the level of bolt pretension was assessed by comparing the N–Series to the T–Series. Table 8 presents the results of the statistical tests.

None of the comparisons show a significant difference between the mean slip coefficients of the investigated samples. Contrary to the conclusions drawn by Barakat *et al.* [1984], the present investigation indicates that the level of pretension does not significantly affect

the slip coefficient. All standard deviations were found to be similar. The result reported herein is what would be expected.

Comp. Between	S	tandard D	Deviation		Value	
	F	α (%)	Level	t	α (%)	Level
4N One and 4T One	2.03	51.6	Insignificant	0.25	80.3	Insignificant
4N Two and 4T Two	2.97	19.9	Insignificant	2.60	2.5	Small
5N One and 5T One	1.51	54.7	Insignificant	2.04	5.6	Insignificant
5N Two and 5T Two	2.42	23.4	Insignificant	0.79	44.0	Insignificant

Table 8 – *Statistical evaluation of the effect of level of bolt pretension.*

4.6 Effect of Bolt Hole Size

The effect of bolt hole size, i.e. normal versus oversized clearance, was assessed by comparing the N–Series to the D–Series. Table 9 presents the results of the statistical tests.

With the exception of the two-bolt joints of the 1/2-in. plates, the comparisons show a good agreement between the normal and oversized holes. This supports the conclusions drawn by Chesson and Munse [1964], Allan and Fisher [1968], and Frank and Yura [1981] that as long as the maximum clearance for oversized holes as stated in the RCSC Specification is respected, no reduction in slip is observed. However, it should be noted that the present results were obtained with measured pretensions and therefore do not account for a potential reduction in pretension when the turn-of-nut method is used to tighten the bolts. All calculated standard deviations are similar.

Comp. Between	St	tandard D	eviation		Value	
	F	α (%)	Level	t	α (%)	Level
4N One and 4D One	1.18	76.5	Insignificant	1.97	6.2	Insignificant
4N Two and 4D Two	2.66	21.1	Insignificant	2.97	0.90	Significant
5N One and 5D One	1.13	85.8	Insignificant	1.55	13.9	Insignificant
5N Two and 5D Two	1.06	92.2	Insignificant	0.01	99.1	Insignificant

Table 9 – Statistical evaluation of the effect of bolt hole size.

4.7 Effect of Bolt Hole Fabrication Process

The effect of the bolt hole fabrication process, i.e., drilled versus punched holes, was also investigated in the present study. Table 10 presents the results of the statistical tests.

Comp. Between	S	tandard Deviation		Mean Value		
	F	α (%)	Level	t	α (%)	Level
4N One and 4P One	12.46	6.7×10 ⁻²	Significant	2.73	1.21	Moderate
4N Two and 4P Two	4.35	6.5	Insignificant	2.42	2.8	Small
5N One and 5P One	0.26	80.1	Insignificant	1.90	35.4	Insignificant
5N Two and 5P Two	0.19	85.4	Insignificant	1.19	81.9	Insignificant

Table 10 – *Statistical evaluation of the effect of bolt hole fabrication.*

None of the comparisons of the mean slip values shows a significant difference. Although the difference between the two sets of 1/2-in. plates was assigned to be moderate and small, they do not allow any conclusion as to which of the two hole fabrication methods results in a higher slip coefficient since the mean slip coefficient is higher for the drilled one-bolt joints, but lower for the drilled two-bolt joints. Therefore, it can be concluded that as long as the grease on drilled plates and all burrs are properly removed, the hole fabrication method does not significantly affect the slip coefficient. With the exception of the one-bolt 1/2-in. plate joints, the standard deviations correspond well.

4.8 Comparison with Other Test Results

Although not all samples show an insignificant difference in mean slip coefficient and the standard deviations of the one-bolt and two-bolt joints do not correspond well, all the test results obtained in the present investigation (called the U of A test results herein) are grouped into one sample. This sample is then compared to the test results obtained by Yura *et al.* [1981] on the same steel grade, namely ASTM Grade A588. Furthermore, the U of A sample is compared to the sample reported in Kulak *et al.* [1987], which summarizes the test results on clean mill scale faying surfaces for different steel types (A7, A36, A440, Fe37 and Fe52) from several research projects carried out in North America and Europe.

The total number of the U of A test results is 190, with a mean slip coefficient $\mu_{av} = 0.39$ and a standard deviation $\sigma = 0.071$. The Yura *et al.* [1981] test series on clean mill scale yielded 31 test results, with $\mu_{av} = 0.23$ and $\sigma = 0.034$. Kulak *et al.* [1987] analysed 327 test results and obtained a mean slip coefficient $\mu_{av} = 0.33$ with a standard deviation $\sigma = 0.070$. Table 11 presents the results of the statistical tests.

It is obvious that the U of A test results are significantly different from the ones obtained by Yura *et al.* [1981]. In fact, the level of significance between the two studies for both the mean slip coefficient and its standard deviation is much lower than any level of significance obtained for comparisons within the U of A test results.

Comp. Between		Standard Deviation			Mean Value		
	F	α (%)	Level	t	α (%)	Level	
U of A and Yura	4.37	1.3x10 ⁻³	Significant	11.8	4x10 ⁻²³	Significant	
U of A and Kulak	1.03	80.2	Insignificant	8.96	6x10 ⁻¹⁶	Significant	

 Table 11 – Statistical comparison of U of A test results with data reported in Yura et al.
 [1981] and Kulak et al. [1987].

The mean slip coefficients of the U of A test results and the ones reported by Kulak *et al.* [1987] also show a significant difference, which is a reflection of the substantially higher mean slip coefficient obtained in the U of A study. However, the difference is not as marked as compared to the Yura *et al.* [1981] test results. Furthermore, the two standard deviations are close and not significantly different.

4.9 Summary

Statistical tests were conducted to assess the effect of different parameters on the slip coefficient of ASTM Grade A588 steel with clean mill scale tested in the present study. Good agreement between the mean values of the one-bolt and the two-bolt joint results was observed. However, their standard deviations were found to be significantly different. No significant effect of level of bolt pretension or bolt hole clearance could be detected. Conversely, the test results suggest that the preparation of the faying surfaces, i.e., if the surfaces are degreased or not, has a marked influence on the slip coefficient. The influence of the two steel heats cannot be conclusively assessed, but a clear tendency for the 5/8-in. plates to display a higher slip coefficient than the 1/2-in. plates was observed. No significant difference was observed between punched and drilled holes.

A comparison with the results obtained by Yura *et al.* [1981] shows a significant difference in both the mean values and standard deviations. With respect to other steel types, the slip coefficient measured in the present study is significantly higher, although its standard deviation is similar to that observed on other steel grades as presented by Kulak *et al.* [1987].

Although some of the U of A test series resulted in significantly different mean slip coefficients, they all fall within tolerable limits, as is illustrated in the histogram of Figure 8. Therefore it is reasonable to group all results into one sample having a size of 190 with a mean slip coefficient $\mu_{av} = 0.39$ and a standard deviation $\sigma = 0.071$.

Figure 8 also shows the histograms for the test results obtained by [Yura *et al.* 1981] on ASTM Grade A588 clean mill scale faying surfaces and the data reported in [Kulak *et al.* 1987] on other structural steel grades with clean mill scale faying surfaces. It is apparent from Figure 8 that there is a marked difference between the U of A and the [Yura *et al.* 1981] test results, confirming the findings of the statistical analysis. The difference does not seem to be as marked for the [Kulak *et al.* 1987] data, but a shift to the left with respect to the U of A results is discernible, indicating the lower mean slip coefficient.



Figure 8 – *Histogram with* U of A *test results and data from Yura et al.* [1981] and *Kulak et al.* [1987].
5. SUMMARY, CONCLUSIONS, AND FUTURE WORK

5.1 Summary and Conclusions

A total of 99 slip-critical double lap splice specimens made of ASTM Grade A588 plates with clean mill scale faying surfaces were tested to determine the slip coefficient, μ . The test specimens were unsymmetrical: one end of the joint consisted of a one-bolt joint and the other end consisted of a two-bolt joint. The test program yielded 99 valid test results on one-bolt joints and 90 valid test results on two-bolt joints. Statistical analyses showed good agreement between the mean values of the one-bolt and two-bolt joints. The effect of bolt pretension and hole oversize, given that these are within the requirements of the RCSC Specification, were not found to be significant. However, a marked reduction in slip coefficient was detected when the faying surfaces were not degreased. Although the statistical analyses are not conclusive, the test results suggest that the steel heat might have an appreciable effect on the slip coefficient. For punched holes the data suggest that no significant difference with respect to drilled holes should be expected as long as the faying surfaces are deburred.

A comparison with test results obtained by Yura *et al.* [1981] on clean mill scale ASTM Grade A588 steel showed a substantially higher slip coefficient for the plates tested at the U of A. Although the difference was not as pronounced, the U of A tests showed a higher slip coefficient compared to tests carried out on clean mill scale surfaces of other steel types investigated in North America and Europe.

Although some of the U of A test results showed a significantly different mean slip coefficient than the basic series, the overall scatter falls within reasonable limits and all test results can be grouped into one sample. The sample size for the U of A test program on A588 steel faying surfaces is 190, with mean slip coefficient $\mu_{av} = 0.39$ and standard deviation $\sigma = 0.071$.

If all test results from the present study, from Yura *et al.* [1981], and from Kulak *et al.* [1987] are grouped into one sample with size 548, a mean slip coefficient $\mu_{av} = 0.34$ and a standard deviation $\sigma = 0.079$ is obtained.

5.2 Future Work

The slip coefficient does not seem to be influenced by oversized holes which are within the limits set out in the RCSC Specification. However, the effect of oversized holes on the level of pretension was not investigated in the present study. This should be further analyzed in order to assess the reduction factor, $\phi = 0.85$, proposed in the RCSC Specification for oversized holes.

The higher slip coefficient obtained in the present study might be coincidental or a consequence of different mill scale characteristics in newer steels. If the latter were true, then a new database of test results on clean mill scale would have to be obtained by a suitable test program. The suitability of the current database of test results on clean mill scale should be investigated.

REFERENCES

- AISC (2005): Specification for Structural Steel Buildings. ANSI/AISC 360-05 An American National Standard, American Institute of Steel Construction, INC, Chicago, USA.
- Allan, R. N. and Fisher, J. W. (1968). Bolted Joints with Oversize or Slotted Holes. Journal of the Structural Division, ASCE, Vol. 94, No. ST9, pp. 2061 – 2080.
- ASTM (2005a). Designation A 370–05: Standard Test Methods and Definitions for Mechanical Testing of Steel Products. American Society for Testing and Materials, Philadelphia, USA.
- ASTM (2005b). Designation A 588–05: Standard Specification for High-Strength Low-Alloy Structural Steel, up to 50 ksi (345 MPa) Minimum Yield Point, with Atmospheric Corrosion Resistance. American Society for Testing and Materials, Philadelphia, USA.
- Barakat, E., Albrecht, P., and Sahli, A. H. (1984). *Slip Resistance of High Strength Bolted Joints – Literature Review*. University of Maryland, College Park, USA.
- Chesson, E., Jr. and Munse, W. H. (1964). Studies of the Behavior of High-Strength Bolts and Bolted Joints. Bulletin 469, Engineering Experiment Station, University of Illinois, Urbana.
- CAN/CSA S16-01 (2001). *Limit States Design of Steel Structures*. Canadian Standards Association, Mississauga.
- Fisher, J. W., Galambos, T. V., Kulak, G. L., and Ravindra, M. K. (1978). Load and Resistance Factor Design Criteria for Connections. Journal of the Structural Division, ASCE, Vol. 104, No. ST9, pp. 1427 – 1441.
- Frank, K. H. and Yura, J. A. (1981). An Experimental Study of Bolted Shear Connections. Report No. FHWA/RD-81/148, Federal Highway Administration, Washington, D.C., USA.
- Galambos, T.V. (2006). *Reliability of the Member Stability Criteria in the 2005 AISC Specification*. Engineering Journal, AISC, Fourth Quarter, pp. 257 265.

- Galambos, T. V. and Ravindra, M. K. (1973). Tentative Load and Resistance Design Criteria for Steel Buildings. Research Report No. 18, Civil Engineering Department, Washington University, St. Louis.
- Galambos, T. V. and Ravindra, M. K. (1977). The Basis for load and Resistance Factor Design Criteria of Steel Building Structures. Canadian Journal of Civil Engineering, Vol. 4, No. 3, pp. 178 – 189.
- Kennedy, D. J. L. and Gad Aly, M. (1979). Limit State Design of Steel Structures Performance Factors. Canadian Journal of Civil Engineering, Vol. 7, pp. 45 – 77.
- Kennedy, J. B. and Neville, A. M. (1986). *Basic Statistical Methods for Engineers and Scientists*. Third Edition, Harper & Row Publishing, New York.
- Kulak, G. L. and Fisher, J. W. (1985). *Behavior of Slip-Resistant Bolted Joints*. IABSE Surveys S–32/85, International Association for Bridge and Structural Engineering, Zurich, Switzerland, pp. 45 – 62.
- Kulak, G. L., Fisher, J. W. and Struik, J. H. A. (1987). Guide to Design Criteria for Bolted and Riveted Joints. 2nd Edition, Research Council on Structural Connections.
- Lind, N. C. (1971). *Consistent Partial Safety Factors*. Journal of the Structural Division, ASCE, Vol. 97, No. ST6, pp. 1651 1669.
- [Monash 2007] *Plate Tear-Out Tests*. Report to KBR, Department of Civil Engineering, Monash University, Victoria, Australia, 2007.
- Perry, W. C. (1981). Bearing Strength of Bolted Connections. Masters Thesis, Department of Civil Engineering, University of Texas at Austin.
- Research Council on Structural Connections (2004). Specification for Structural Joints Using ASTM A325 or A490 Bolts. American Institute of Steel Construction, Chicago, Illinois.
- Schmidt, B. J. and Bartlett, F. M. (2002). *Review of Resistance Factor for Steel: Data Collection*. Canadian Journal of Civil Engineering, Vol. 29, pp. 98 108.
- Vasarhelyi, D. D. and Chiang, K. C. (1967). Coefficient of Friction in Joints of Various Steels. Journal of the Structural Division, ASCE, Vol. 93, No. ST4, 1967, pp. 227 – 243.

Yura, J. A., FRANK, K. H., and CAYES, L. (1981). Bolted Friction Connections with Weathering Steel. Journal of the Structural Division, ASCE, Vol. 107, No. ST11, 1981, pp. 2071 – 2087.

APPENDIX A

LOAD VS. DEFORMATION CURVES

The load vs. stroke (UTM displacement) and the load vs. LVDT displacement up to the slip of the two-bolt joint for each test are presented in the following. For the first 55 tests, the LVDT was mounted only on the two-bolt joint of the specimen. For the remaining 44 tests the LVDT was first installed on the one-bolt joint and then switched to the two-bolt joint after the first slip. Therefore, the first 55 LVDT curves just show the second slip. For the remaining tests both slips can be observed on the LVDT curves.

The overall joint behaviour up to failure is presented for each specimen at the bottom half of the following pages. In addition to the load vs. UTM displacement curve (overall joint behaviour), the load vs. LVDT displacement and the individual bolt pretensions vs. the UTM displacement are also shown. "Single Bolt" refers to the one-bolt joint, and "Top Bolt" and "Bottom Bolt" refer to the bolts on the two-bolt joint, where the top bolt is the one farther from the joint between the two main plates (see Figure 2).



Figure 9 – Load vs. displacement, 4N1.



Figure 10 – Load vs. displacement, 4N1.



Figure 11 – Load vs. displacement, 4N2.



Figure 12 – Load vs. displacement, 4N2.



Figure 13 – Load vs. displacement, 4N3.



Figure 14 – Load vs. displacement, 4N3.



Figure 15 – Load vs. displacement, 4N4.



Figure 16 – Load vs. displacement, 4N4.



Figure 17 – Load vs. displacement, 4N5.



Figure 18 – Load vs. displacement, 4N5.



Figure 19 – Load vs. displacement, 4N6.



Figure 20 – Load vs. displacement, 4N6.



Figure 21 – Load vs. displacement, 4N7.



Figure 22 – Load vs. displacement, 4N7.



Figure 23 – Load vs. displacement, 4N8.



Figure 24 – Load vs. displacement, 4N8.



Figure 25 – Load vs. displacement, 4N9.



Figure 26 – Load vs. displacement, 4N9.



Figure 27 – Load vs. displacement, 4N10.



Figure 28 – Load vs. displacement, 4N10.



Figure 29 – Load vs. displacement, 4N11.



Figure 30 – Load vs. displacement, 4N11.



Figure 31 – Load vs. displacement, 4N12.



Figure 32 – Load vs. displacement, 4N12.



Figure 33 – Load vs. displacement, 4N14.



Figure 34 – Load vs. displacement, 4N14.



Figure 35 – Load vs. displacement, 4N15.



Figure 36 – Load vs. displacement, 4N15.



Figure 37 – Load vs. displacement, 4S1.



Figure 38 – Load vs. displacement, 4S1.



Figure 39 – Load vs. displacement, 4S2.



Figure 40 – Load vs. displacement, 4S2.



Figure 41 – Load vs. displacement, 4S3.



Figure 42 – Load vs. displacement, 4S3.



Figure 43 – Load vs. displacement, 4S4.



Figure 44 – Load vs. displacement, 4S4.



Figure 45 – Load vs. displacement, 4S5.



Figure 46 – Load vs. displacement, 4S5.



Figure 47 – Load vs. displacement, 4S6.



Figure 48 – Load vs. displacement, 4S6.



Figure 49 – Load vs. displacement, 4S7.



Figure 50 – Load vs. displacement, 4S7.



Figure 51 – Load vs. displacement, 4S8.



Figure 52 – Load vs. displacement, 4S8.



Figure 53 – Load vs. displacement, 4S9.



Figure 54 – Load vs. displacement, 4S9.



Figure 55 – Load vs. displacement, 4S10.



Figure 56 – Load vs. displacement, 4S10.



Figure 57 – Load vs. displacement, 471.



Figure 58 – Load vs. displacement, 471.



Figure 59 – Load vs. displacement, 4T2.



Figure 60 – Load vs. displacement, 4T2.



Figure 61 – Load vs. displacement, 4T3.



Figure 62 – Load vs. displacement, 4T3.



Figure 63 – Load vs. displacement, 4T4.



Figure 64 – Load vs. displacement, 4T4.



Figure 65 – Load vs. displacement, 4T5.



Figure 66 – Load vs. displacement, 4T5.



Figure 67 – Load vs. displacement, 5N1.



Figure 68 – Load vs. displacement, 5N1.


Figure 69 – Load vs. displacement, 5N2.



Figure 70 – Load vs. displacement, 5N2.



Figure 71 – Load vs. displacement, 5N3.



Figure 72 – Load vs. displacement, 5N3.



Figure 73 – Load vs. displacement, 5N4.



Figure 74 – Load vs. displacement, 5N4.



Figure 75 – Load vs. displacement, 5N5.



Figure 76 – Load vs. displacement, 5N5.



Figure 77 – Load vs. displacement, 5N6.



Figure 78 – Load vs. displacement, 5N6.



Figure 79 – Load vs. displacement, 5N7.



Figure 80 – Load vs. displacement, 5N7.



Figure 81 – Load vs. displacement, 5N8.



Figure 82 – Load vs. displacement, 5N8.



Figure 83 – Load vs. displacement, 5N9.



Figure 84 – Load vs. displacement, 5N9.



Figure 85 – Load vs. displacement, 5N10.



Figure 86 – Load vs. displacement, 5N10.



Figure 87 – Load vs. displacement, 5S1.



Figure 88 – Load vs. displacement, 5S1.



Figure 89 – Load vs. displacement, 5S2.



Figure 90 – Load vs. displacement, 5S2.



Figure 91 – Load vs. displacement, 5S3.



Figure 92 – Load vs. displacement, 5S3.



Figure 93 – Load vs. displacement, 5S4.



Figure 94 – Load vs. displacement, 5S4.



Figure 95 – Load vs. displacement, 5S5.



Figure 96 – Load vs. displacement, 5S5.



Figure 97 – Load vs. displacement, 5S6.



Figure 98 – Load vs. displacement, 5S6.



Figure 99 – Load vs. displacement, 5S7.



Figure 100 – Load vs. displacement, 5S7.



Figure 101 – Load vs. displacement, 5S8.



Figure 102 – Load vs. displacement, 5S8.



Figure 103 – Load vs. displacement, 5S9.



Figure 104 – Load vs. displacement, 5S9.



Figure 105 – Load vs. displacement, 5S10.



Figure 106 – Load vs. displacement, 5S10.



Figure 107 – Load vs. displacement, 571.



Figure 108 – Load vs. displacement, 571.



Figure 109 – Load vs. displacement, 5T2.



Figure 110 – Load vs. displacement, 5T2.



Figure 111 – Load vs. displacement, 5T3.



Figure 112 – Load vs. displacement, 5T3.



Figure 113 – Load vs. displacement, 5T4.



Figure 114 – Load vs. displacement, 5T4.



Figure 115 – Load vs. displacement, 5T5.



Figure 116 – Load vs. displacement, 5T5.



Figure 117 – Load vs. displacement, 5T6.



Figure 118 – Load vs. displacement, 5T6.



Figure 119 – Load vs. displacement, 5T7.



Figure 120 – Load vs. displacement, 5T7.



Figure 121 – Load vs. displacement, 578.



Figure 122 – Load vs. displacement, 578.



Figure 123 – Load vs. displacement, 5T9.



Figure 124 – Load vs. displacement, 5T9.



Figure 125 – Load vs. displacement, 5T10.



Figure 126 – Load vs. displacement, 5T10.



Figure 127 – Load vs. displacement, 5D1.



Figure 128 – Load vs. displacement, 5D1.



Figure 129 – Load vs. displacement, 5D2.



Figure 130 – Load vs. displacement, 5D2.



Figure 131 – Load vs. displacement, 5D3.



Figure 132 – Load vs. displacement, 5D3.



Figure 133 – Load vs. displacement, 5D4.



Figure 134 – Load vs. displacement, 5D4.



Figure 135 – Load vs. displacement, 5D5.



Figure 136 – Load vs. displacement, 5D5.



Figure 137 – Load vs. displacement, 5D6.



Figure 138 – Load vs. displacement, 5D6.



Figure 139 – Load vs. displacement, 5D7.



Figure 140 – Load vs. displacement, 5D7.


Figure 141 – Load vs. displacement, 5D8.



Figure 142 – Load vs. displacement, 5D8.



Figure 143 – Load vs. displacement, 5D9.



Figure 144 – Load vs. displacement, 5D9.



Figure 145 – Load vs. displacement, 5D10.



Figure 146 – Load vs. displacement, 5D10.



Figure 147 – Load vs. displacement, 5P1.



Figure 148 – Load vs. displacement, 5P1.



Figure 149 – Load vs. displacement, 5P2.



Figure 150 – Load vs. displacement, 5P2.



Figure 151 – Load vs. displacement, 5P3.



Figure 152 – Load vs. displacement, 5P3.



Figure 153 – Load vs. displacement, 5P4.



Figure 154 – Load vs. displacement, 5P4.



Figure 155 – Load vs. displacement, 5P5.



Figure 156 – Load vs. displacement, 5P5.



Figure 157 – Load vs. displacement, 5P6.



Figure 158 – Load vs. displacement, 5P6.



Figure 159 – Load vs. displacement, 5P7.



Figure 160 – Load vs. displacement, 5P7.



Figure 161 – Load vs. displacement, 5P8.



Figure 162 – Load vs. displacement, 5P8.



Figure 163 – Load vs. displacement, 5P9.



Figure 164 – Load vs. displacement, 5P9.



Figure 165 – Load vs. displacement, 5P10.



Figure 166 – Load vs. displacement, 5P10.



Figure 167 – Load vs. displacement, 4D1.



Figure 168 – Load vs. displacement, 4D1.



Figure 169 – Load vs. displacement, 4D2.



Figure 170 – Load vs. displacement, 4D2.



Figure 171 – Load vs. displacement, 4D3.



Figure 172 – Load vs. displacement, 4D3.



Figure 173 – Load vs. displacement, 4D4.



Figure 174 – Load vs. displacement, 4D4.



Figure 175 – Load vs. displacement, 4D5.



Figure 176 – Load vs. displacement, 4D5.



Figure 177 – Load vs. displacement, 4D6.



Figure 178 – Load vs. displacement, 4D6.



Figure 179 – Load vs. displacement, 4D7.



Figure 180 – Load vs. displacement, 4D7.



Figure 181 – Load vs. displacement, 4D8.



Figure 182 – Load vs. displacement, 4D8.



Figure 183 – Load vs. displacement, 4D9.



Figure 184 – Load vs. displacement, 4D9.



Figure 185 – Load vs. displacement, 4D10.



Figure 186 – Load vs. displacement, 4D10.



Figure 187 – Load vs. displacement, 4P1.



Figure 188 – Load vs. displacement, 4P1.



Figure 189 – Load vs. displacement, 4P2.



Figure 190 – Load vs. displacement, 4P2.



Figure 191 – Load vs. displacement, 4P3.



Figure 192 – Load vs. displacement, 4P3.



Figure 193 – Load vs. displacement, 4P4.



Figure 194 – Load vs. displacement, 4P4.



Figure 195 – Load vs. displacement, 4P5.



Figure 196 – Load vs. displacement, 4P5.



Figure 197 – Load vs. displacement, 4P6.



Figure 198 – Load vs. displacement, 4P6.



Figure 199 – Load vs. displacement, 4P7.



Figure 200 – Load vs. displacement, 4P7.



Figure 201 – Load vs. displacement, 4P81.



Figure 202 – Load vs. displacement, 4P8.



Figure 203 – Load vs. displacement, 4P9.



Figure 204 – Load vs. displacement, 4P9.



Figure 205 – Load vs. displacement, 4P10.



Figure 206 – Load vs. displacement, 4P10.

APPENDIX B

DETAILED TEST RESULTS

Table 12 presents the detailed test results for the slips of the one-bolt and two-bolt joints. "Single" refers to the one-bolt joint, "Two" to the two-bolt joint. "Top" and "Bottom" refer to the bolts on the two-bolt joint, where the top bolt is the one farther from the joint between the two main plates (see Figure 2). The slip coefficients are obtained as follows:

$$\mu_{One} = \frac{P_{slip,One}}{T_{b,Single}} \qquad \qquad \text{for the one-bolt joint} \tag{4}$$

$$\mu_{Two} = \frac{P_{slip,Two}}{T_{b,Top} + T_{b,Bottom}} \qquad \text{for the two-bolt joint}$$
(5)

No.	Desig-	Preload $T_{b,i}$ [kN]			Slip Load <i>P</i> _{slip} [kN]		Slip Coefficient μ [-]		
	nation	Single	Тор	Bottom	Single	Two	Single	Two	
1	4N1	124	129	139	101	170	0.41	0.32	
2	4N2	125	127	139	82		0.33		
3	4N3	125	130	140	97	190	0.39	0.35	
4	4N4	129	126	138	90	185	0.35	0.35	
5	4N5	126	126	139	117		0.47		
6	4N6	127	128	140	110		0.43		
7	4N7	127	124	138	84		0.33		
8	4N8	120	126	137	86	173	0.36	0.33	
9	4N9	127	126	126	87		0.34		
10	4N10	127	124	126	117	169	0.46	0.34	
11	4N11	128	126	126	104		0.41		
12	4N12	128	130	127	106	193	0.42	0.38	
	4N13	Damaged Plates, Specimen not Tested							
13	4N14	131	128	128	106	173	0.41	0.34	
14	4N15	133	127	126	136	181	0.51	0.36	
15	4S1	128	127	130	73	141	0.29	0.27	
16	4S2	126	126	127	83	130	0.33	0.26	
17	4S3	127	127	126	85	126	0.33	0.25	
18	4S4	128	127	124	84	148	0.33	0.30	
19	4S5	129	126	130	79	132	0.31	0.26	
20	4S6	126	129	127	77	158	0.31	0.31	
21	4S7	130	127	126	83	150	0.32	0.30	
22	4S8	126	126	128	72	143	0.29	0.28	
23	4S9	133	125	130	78	174	0.29	0.34	
24	4S10	126	125	126	88	153	0.35	0.31	

Table 12 – *Detailed results of the slip coefficients for all specimens.*

No.	Desig-	Preload $T_{b,i}$ [kN]			Slip Load P _{slip} [kN]		Slip Coefficient μ [-]	
	nation	Single	Тор	Bottom	Single	Two	Single	Two
25	4T1	164	161	161	108	228	0.33	0.35
26	4T2	163	161	161	140	185	0.43	0.29
27	4T3	166	161	161	130	188	0.39	0.29
28	4T4	163	161	162	131	183	0.40	0.28
29	4T5	163	163	160	136	214	0.42	0.33
30	5N1	127	125	127	83	222	0.33	0.44
31	5N2	127	128	125	91	288	0.36	0.57
32	5N3	130	124	128	94	182	0.36	0.36
33	5N4	129	127	126	110	235	0.43	0.47
34	5N5	128	126	126	115	252	0.45	0.50
35	5N6	127	126	127	104	259	0.41	0.51
36	5N7	128	127	126	99	250	0.39	0.49
37	5N8	128	125	127	85	250	0.33	0.50
38	5N9	120	125	127	120	210	0.33	0.42
39	5N10	130	126	128	107		0.41	
40	5S1	133	120	126	107	170	0.40	0.34
40	5S2	129	127	120	94	176	0.40	0.35
42	5S2 5S3	129	129	127	92	181	0.37	0.35
43	5S4	124	129	127	107	159	0.42	0.33
44	5S5	120	126	125	80	186	0.42	0.37
45	5S6	127	120	120	76	196	0.29	0.39
45 46	5S7	130	124	127	70	206	0.29	0.39
40 47	5S8	120	125	123	105	200	0.23	0.41
48	5S9	120	125	125	95	171	0.42	0.42
40 49	5S10	129	126	125	108	182	0.43	0.34
50	5T1	120	161	161	155		0.43	
50 51	5T2	162	163	162	155	250	0.48	0.38
52	5T3	162	161	161	130	300	0.43	0.38
52 53	5T4	161	160	161	105	320	0.43	0.47
55 54	5T5	160	160	159	105	280	0.33	0.49
55	5T6	163	160	163	155	275	0.48	0.44
55 56	5T7	161	161	162	135	300	0.48	0.45
50 57	5T8	161	161	162	115	300 325	0.30	0.40
58	5T9	161	163	163	145	323 320	0.45	0.30
58 59	5T10	162	165	163	143	320 275	0.43	0.49
60	5D1	102	132	103	170	245	0.32	0.42
61	5D1 5D2	129	132	120	120	243 267	0.47	0.48
61 62	5D2 5D3	130 129	127	127	100	267 261	0.39	0.53
62 63	5D3 5D4	129	120	127	100	165	0.39	0.32
63 64	5D4 5D5	127	125	126	105	165 245	0.41	0.33 0.49
65	5D5 5D6	131	125	123	93	243 260	0.44	0.49
65 66	5D6 5D7	127	125	127 124	93 120	260 246	0.37 0.47	0.30 0.49
67 68	5D8 5D9	127	125 124	129 127	135	225 220	0.53	0.44
68 60	5D9	128	124	127	115	220	0.45	0.44
<u>69</u>	5D10	130	125	129	98	262	0.38	0.52
70 71	5P1	127	125	132	108	260 240	0.43	0.51
71 72	5P2	127	125	132	100	240	0.40	0.47
72	5P3	126	124	126	90	277	0.36	0.56

No.	Desig-	Preload $T_{b,i}$ [kN]			Slip Load <i>P</i> _{slip} [kN]		Slip Coefficient μ [-]	
	nation	Single	Тор	Bottom	Single	Two	Single	Two
73	5P4	129	127	128	107	260	0.42	0.51
74	5P5	129	126	124	100	270	0.39	0.54
75	5P6	131	126	126	90	226	0.34	0.45
76	5P7	129	123	126	96	230	0.37	0.46
77	5P8	127	124	128	100	220	0.39	0.44
78	5P9	129	128	126	114	214	0.44	0.42
79	5P10	127	127	128	115	167	0.45	0.33
80	4D1	126	124	125	84	165	0.34	0.33
81	4D2	126	124	126	103	131	0.41	0.26
82	4D3	124	124	131	72	161	0.29	0.32
83	4D4	126	127	124	77	135	0.31	0.27
84	4D5	126	126	128	124	180	0.49	0.35
85	4D6	127	127	128	82	170	0.32	0.33
86	4D7	129	125	126	80	165	0.31	0.33
87	4D8	128	132	127	92	158	0.36	0.31
88	4D9	129	129	131	89	156	0.35	0.30
89	4D10	131	128	127	95	147	0.36	0.29
90	4P1	131	127	131	94	175	0.36	0.34
91	4P2	128	125	124	88	204	0.34	0.41
92	4P3	122	129	122	85	205	0.35	0.41
93	4P4	130	129	127	93	207	0.36	0.40
94	4P5	130	126	128	88	170	0.34	0.34
95	4P6	127	128	127	94	195	0.37	0.38
96	4P7	131	130	127	88	164	0.34	0.32
97	4P8	129	126	125	92	219	0.36	0.44
98	4P9	129	126	126	96	196	0.37	0.39
99	4P10	131	128	126	84	192	0.32	0.38
APPENDIX C

STATISTICAL TESTS

C.1 Introduction

Statistical tests were used to compare the different series of tests conducted in this research program. It was assumed that the test results follow a normal distribution. Two tests, the Student *t*–Test to compare the mean values, and the *F*–Test to compare standard deviations, were carried out. These are briefly explained in the following. Since for both tests it is not of importance which one of the samples has the smaller parameters, two-sided tests were used. A sample calculation for the comparison between the one–bolt and the two–bolt joints is presented in section C.4.

C.2 Comparison of Mean Values Using the Student t-Test

A statistical comparison of the mean values of two sets of test results ($\mu_{av,1}$ and $\mu_{av,2}$) can be carried out using the Student *t*-test, where *t* is defined as [Kennedy & Neville 1986]:

$$t = \frac{\left|\mu_{av,1} - \mu_{av,2}\right|}{\sqrt{\sigma_c^2 \left(\frac{n_1 + n_2}{n_1 n_2}\right)}}$$
(6)

where σ_c^2 is the combined population variance estimated from the two samples, given by:

$$\sigma_{c}^{2} = \frac{(n_{1}-1)\sigma_{1}^{2} + (n_{2}-1)\sigma_{2}^{2}}{(n_{1}-1) + (n_{2}-1)} = \frac{\sum_{i=1}^{n_{1}}(\mu_{1,i} - \mu_{av,1})^{2} + \sum_{j=1}^{n_{2}}(\mu_{2,j} - \mu_{av,2})^{2}}{(n_{1}-1) + (n_{2}-1)}$$
(7)

In this test the null hypothesis is that the two sample means are not significantly different.

From tables or with a computer program such as Excel, a level of significance, α , for the calculated *t*-value can be obtained as a function of the number of degrees of freedom for the total number of the tests, $DOF = n_1 + n_2 - 2$. If the obtained level of significance is smaller than a reference level of significance, the hypothesis that the two mean values are not significantly different has to be rejected.

C.3 Comparison of Variances Using the F-Test

In order to be able to compare two sets of tests, it also has to be shown with some degree of certainty that the standard deviations of both samples do not differ significantly. If there are only two standard deviations (σ_1 and σ_2) the *F* test can be applied, where the value of *F* is calculated as [Kennedy & Neville 1986]:

$$F = \left(\frac{\sigma_1}{\sigma_2}\right)^2 \qquad \text{where } \sigma_1 > \sigma_2 \tag{8}$$

Subscript 1 corresponds to the set of data with the largest standard deviation and subscript 2 refers to the other set of data. In this test the null hypothesis is that the two sample standard deviations are not significantly different.

From tables or with a computer program such as Excel, a level of significance, α , for the calculated *F*-value can be obtained as a function of the number of degrees of freedom, *DOF*, for each sample ($DOF_i = n_i - 1$ where n_i is the sample size of the sample *i*). If the obtained level of significance is smaller than a reference level of significance, the hypothesis that the two standard deviations are not significantly different has to be rejected.

C.4 Sample Calculation for the Comparison between the One– and Two– Bolt Joints

Given:

	One-bolt joints	Two-bolt joints
Number of tests <i>n</i>	99	91
Mean slip coefficient μ_{av}	0.3852	0.3901
Standard deviation σ	0.0588	0.0827

Student t–Test

For the Student *t*-test, it does not matter which of the two samples is taken as sample 1. In this example, we take the one-bolt joints data set as sample 1.

The pooled variance has to be determined:

$$\sigma_c^2 = \frac{(n_1 - 1)\sigma_1^2 + (n_2 - 1)\sigma_2^2}{(n_1 - 1) + (n_2 - 1)} = \frac{(99 - 1)0.0588^2 + (91 - 1)0.0827^2}{(99 - 1) + (91 - 1)} = 0.00508$$

The *t*-value then becomes:

$$t = \frac{\left|\mu_{av,1} - \mu_{av,2}\right|}{\sqrt{\sigma_c^2 \left(\frac{n_1 + n_2}{n_1 n_2}\right)}} = \frac{\left|0.3852 - 0.3901\right|}{\sqrt{0.00508 \left(\frac{99 + 91}{99 \cdot 91}\right)}} = 0.474$$

The number of degrees of freedom for the pooled data is: DOF = 99 + 91 - 2 = 188.

The level of significance, α , was obtained with Excel (=TDIST(*t*, *DOF*,2)*100, where the parameter 2 takes into account that a two-sided test is used and the factor 100 transforms the result in %):

$$\alpha = t \text{ INV}(0.474,188) = 63.2\%$$

The probability that the two means are the same is 63.2%. It therefore seems that the mean slip coefficient obtained from the one–bolt joints is not significantly different from

the mean slip coefficient obtained from the two–bolt joints. According to our definition (see Section 4.1), the assigned degree of difference in this case is "insignificant."

F-Test

For the F–Test, it first has to be established which one of the two samples is sample 1 and which one is sample 2 (the one with the larger standard deviation is sample 1).

 $\sigma_{2bolt} > \sigma_{1bolt} \Rightarrow$ the two-bolt joints are from sample 1 while the one-bolt joints are from sample 2

$$F = \left(\frac{\sigma_{2bolt}}{\sigma_{1bolt}}\right)^2 = \left(\frac{0.0827}{0.0588}\right)^2 = 1.97$$

The number of degrees of freedom are: $DOF_{2bolt} = 91 - 1 = 90$ and $DOF_{1bolt} = 99 - 1 = 98$.

The level of significance, α , was obtained with Excel (=2*FDIST(*F*, *DOF*_{2bolt}, *DOF*_{1bolt}) * 100, where the factor 2 takes into account that a two-sided test is used and the factor 100 transforms the result in %):

$$\alpha = F \text{ INV}(1.97, 90, 98) = 0.11\%$$

The probability that the two standard deviations are the same is only 0.11%. We can therefore conclude with a high degree of confidence that the two standard deviations are different. According to our definition (see Section 4.1), the assigned degree of difference in this case is "significant."

APPENDIX D

FAILURE OF JOINTS BY BOLT SHEAR OR PLATE BEARING

D.1 Introduction

A reliability analysis on the bearing and shear failure results obtained from the test specimens was performed to examine the validity of the resistance factor in the equations given by CAN/CSA S16-01, *Limit States Design of Steel Structures* [CSA 2001], subsequently referred to as S16. Bolt shear failure occurred in the specimens using the 5/8-in. thick plates and bearing failure occurred in the specimens with the 1/2-in. thick plates. A typical bearing failure is illustrated in Figure 207. The following sections briefly outline the derivation of the reliability analysis theory and show its application to the results obtained from the testing procedure.



Figure 207 – Bearing failure in 1/2-in. thick plate.

D.2 Reliability Analysis Theory

The probability of structural failure is related to the safety index defined as follows:

$$\beta = \frac{\ln\left(\frac{R}{Q}\right)}{\sqrt{V_R^2 + V_Q^2}} \tag{9}$$

where \overline{R} and V_R are the mean value and the coefficient of variation of the resistance, respectively. \overline{Q} and V_Q are the mean value and the coefficient of variation of the total load effect.

Lind [1971] proposed an approximation for $\sqrt{V_R^2 + V_Q^2}$ using a separation factor, α , as follows:

$$\sqrt{V_R^2 + V_Q^2} = \alpha \left(V_R + V_Q \right) \tag{10}$$

For a range of V_R/V_Q between 1/3 and 3, with $\alpha = 0.75$ the approximation provided by the right hand side of equation (10) is within 6% of the exact value provided by the left hand side of equation (10). Galambos and Ravindra [1973] extended this concept further by introducing two separation factors, α_R and α_Q , such that

$$\sqrt{V_R^2 + V_Q^2} = \alpha_R V_R + \alpha_Q V_Q \tag{11}$$

Using this approximation, the expression for the safety index, β , can now be rewritten as:

$$\beta = \frac{\ln \overline{R} / \overline{Q}}{\alpha_R V_R + \alpha_Q V_Q} \tag{12}$$

from which we can obtain:

$$\overline{R} \exp(-\beta \,\alpha_R \, V_R) = \overline{Q} \exp(\beta \,\alpha_Q \, V_Q)$$
(13)

This equation relates the mean values of the resistance and the load effect. In order to rewrite the equation in terms of the associated nominal values, \tilde{R} and \tilde{Q} , we set:

$$\rho_R = \frac{\overline{R}}{\widetilde{R}} \quad and \quad \rho_Q = \frac{\overline{Q}}{\widetilde{Q}} \tag{14}$$

where ρ_R and ρ_Q are the bias coefficient for the resistance and the bias coefficient for the load effect, respectively. The relationship between the nominal values of *R* and *Q* becomes:

$$\rho_R \exp(-\beta \,\alpha_R \, V_R \,) \, R = \rho_Q \, \exp(\beta \,\alpha_Q \, V_Q \,) \, Q \tag{15}$$

The nominal values of *R* and *Q* are related as follows:

$$\phi \,\tilde{R} = \alpha' \,\tilde{Q} \tag{16}$$

where ϕ is the *resistance factor* and α' is the *load factor*. Therefore, from comparison of equations (10) and (11) we can deduce:

$$\phi = \rho_R \exp\left(-\beta \,\alpha_R \, V_R\right) \tag{17}$$

Galambos and Ravindra [1977] proposed a separation factor $\alpha_R = 0.55$.

Equation (17) is based on a target safety index of 3.0. However, because of the interdependence of the resistance and load factors an adjustment factor C is required for safety indices different from 3.0. An adjustment factor less than 1.0 is applied when the safety index is greater than 3.0. Conversely, an adjustment factor greater than 1.0 is used when the safety index is less than 3.0. Thus, equation (17) becomes:

$$\phi = C \rho_R \exp\left(-\beta \,\alpha_R \, V_R\right) \tag{18}$$

where the adjustment factor C can be derived using the procedure described by Fisher *et al.* [1978]. The following expression was derived using this procedure:

$$C = \frac{1.086(1.0933 + 1.3936 L/D)}{e^{0.0275\beta} [1 + 0.03111\beta + (1 + 0.1313\beta) L/D]}$$
(19)

where L/D is the live over dead load ratio.

Fisher *et al.* [1978] have shown that this factor varies only from 0.86 to 0.90 for a safety index of 4.5 and a wide range of live to dead load ratios. Figure 208 illustrates the variation of the correction factor as a function of the safety index for different values of live load to dead load ratio varying from 0.5 to 3.0. A simple polynomial expression can be fitted through any one of the curves shown in Figure 208 using a least square

regression analysis. For a live to dead load ratio, L/D, of 3.0, which was adopted in the present reliability analysis, the correction factor can be obtained from:

$$C = 0.008 \,\beta^2 - 0.1584 \,\beta + 1.4056 \tag{20}$$

The correlation coefficient, r^2 , for this approximation to equation (19) is 1.00, indicating that there is no loss of accuracy when equation (20) is used in lieu of equation (19). The live to dead load ratio of 3.0 is consistent with the value used for the calibration of the allowable stress design from load and resistance factor design equations [Galambos, 2006].



Figure 208 – Variation of the correction factor C as a function of live to dead load ratio, L/D, and safety index, β .

The bias coefficient for the resistance, ρ_R , and the corresponding coefficient of variation, V_R , reflect the various sources of variability in the predictions of the resistance. ρ_R is given by:

$$\rho_R = \rho_p \rho_m \rho_D \tag{21}$$

where ρ_p is the bias coefficient for the design equation, ρ_m is the bias coefficient for the material properties and ρ_D is the bias coefficient for the specimen dimensions.

The bias coefficient of the design equation, ρ_p , also referred to as the professional factor, is a measure of the accuracy of the equation, or model, used to predict the required results. This factor is calculated by taking the mean value of the ratio of test results to predicted results in a sample. The predicted results are calculated by using the S16 design equation with actual mean properties and omitting the resistance factor.

The bias coefficients of the material properties and specimen dimensions, ρ_m and ρ_D respectively, are a measure of the accuracy of the material and dimensional properties of the test specimen. These coefficients are calculated by taking the mean of the ratio of the measured values to the nominal values.

The coefficient of variation for the resistance, V_R , is given by:

$$V_{R} = \sqrt{V_{p}^{2} + V_{m}^{2} + V_{D}^{2}}$$
(22)

where V_p , V_m , and V_D are the coefficients of variation for the factors described above.

D.3 Bearing Failure

 B_r :

A reliability analysis was carried out on the test specimens that failed in bearing in order to examine the bearing resistance factor recommended by S16. For bearing failure in bolted connections, S16 uses the following formula:

$$B_r = 3\phi_{br} t dn F_u \tag{23}$$

where

- ϕ_{br} : resistance factor for bearing of bolts on steel
- *t* : thickness of the connected material

factored bearing resistance

- d : diameter of the bolt(s)
- *n* : number of bolts
- F_{μ} : specified minimum tensile strength of the connected material

The test results from the present test procedure (U of A tests), 6 results from Perry [1981] and 11 results from Monash [2007] are analysed and summarized in Table 13. Some of the tests performed by Monash [2007] have been omitted as they do not satisfy the minimum end distance requirement specified by CAN/CSA S16-01. Also given in Table 13 are the actual ultimate strength of the plates, F_u , the measured plate thicknesses, *t*, and bolt diameters, *d*, as well as the predicted failure loads, $B_{predicted}$, and the resulting professional factors, $\rho_p = B_{test}/B_{predicted}$. The resulting professional factor ρ_p (mean value of all $B_{test}/B_{predicted}$ ratios) was found to be 0.965 and the corresponding coefficient of variation, V_p , was found to be 0.048.

The values for t and d were measured directly from the plate and bolts used for each of the U of A tests while nominal values were used for the Perry [1981] and Monash [2007] tests. The number of bolts, n, was equal to 1 in for the U of A and Monash [2007] tests and 2 for the Perry [1981] tests. The value for F_u of the U of A tests was determined from tension tests performed on the plates according to ASTM A 370-05 [ASTM 2005a], *Standard Test Methods and Definitions for Mechanical Testing of Steel Products*. The average of three tests was found to be 500 MPa, see Table 1. The value for F_u of the Monash [2007] tests was 422 MPa and 397 MPa and 448MPa for the 2 heats from the Perry [1981] tests.

The bias coefficient and coefficient of variation for the material properties, $\rho_m = 1.19$ and $V_m = 0.034$ respectively, were obtained from [Schmidt & Bartlett 2002] and refer to the ultimate strength, F_u , of the plates.

The bias coefficient and coefficient of variation for the specimen dimensions for bearing failure is a combination of both specimen thickness and bolt diameter which can be calculated by:

$$\rho_D = \rho_t \rho_d \tag{24}$$

and

$$V_D^{\ 2} = V_t^2 + V_d^2 \tag{25}$$

where ρ_t and ρ_d are the bias coefficient of the specimen thickness and bolt diameter respectively and V_t and V_d are the corresponding coefficients of variation.

The plate thickness bias coefficient and corresponding coefficient of variation, $\rho_t = 1.015$ and $V_t = 0.013$ respectively, were obtained from [Kennedy & Gad-Aly 1979].

The bias coefficient and coefficient of variation for the bolt diameter was determined from measurements of the tested bolts supplemented with measured dimensions from 11 other unused bolt lots. The characteristics for all the bolt measurements are given in Table 14. The calculated values for the bias and variation coefficients are $\rho_d = 0.993$ and $V_d = 0.003$, respectively. The bolt diameters for the first 29 U of A tests were not measured, instead the average of the measured diameters from the same lot was used for the calculations in Table 13. With these characteristics the bias coefficient for the specimen dimensions becomes $\rho_D = \rho_t \rho_d = 1.015 \cdot 0.993 = 1.01$. The corresponding coefficient of variation is $V_D = \sqrt{V_t^2 + V_d^2} = \sqrt{0.013^2 + 0.003^2} = 0.013$.

Test	d	t	F_{u}	$B_{r,test}$	$B_{r,predicted}$	$B_{r,test}/B_{r,predicted}$
Specimen	[mm]	[mm]	[MPa]	[kN]	[kN]	[-]
4N1	18.88	12.65	500	357	359	0.99
4N2	18.88	12.65	500	356	359	0.99
4N3	18.88	12.61	500	357	357	1.00
4N4	18.88	12.64	500	351	358	0.98
4N5	18.88	12.66	500	351	359	0.98
4N6	18.88	12.65	500	352	359	0.98
4N7	18.88	12.66	500	353	359	0.98
4N8	18.88	12.68	500	354	359	0.98
4N9	18.88	12.62	500	355	358	0.99
4N10	18.88	12.58	500	350	357	0.98
4N11	18.88	12.60	500	353	357	0.99
4N12	18.88	12.63	500	359	358	1.00
4N13				no data		
4N14	18.88	12.59	500	340	357	0.95
4N15	18.88	12.62	500	353	358	0.99
4S1	18.88	12.65	500	340	358	0.95

Table 13 – Bearing failure test results.

Test d Specimen [mm] 4S2 18.88 4S3 18.88		F _u [MPa]	B _{r,test} [kN]	B _{r,predicted} [kN]	$B_{r,test}/B_{r,predicted}$
	3 12.74		[111]	[KIN]	[-]
		500	349	360	0.97
	3 12.59	500	344	358	0.96
4S4 18.88		500	341	359	0.95
4S5 18.88	3 12.70	500	340	360	0.94
4\$6 18.88	12.64	500	342	357	0.96
4S7 18.88	3 12.72	500	345	359	0.96
4\$8 18.88	12.63	500	350	360	0.97
4\$9 18.88	12.66	500	343	358	0.96
4S10 18.88	12.69	500	343	359	0.96
4T1 18.88	8 12.61	500	359	358	1.00
4T2 18.88	12.68	500	370	361	1.03
4T3 18.88	3 12.71	500	377	357	1.06
4T4 18.88	12.65	500	352	359	0.98
4T5 18.88	12.65	500	353	360	0.98
4D1 18.95	5 12.62	500	350	359	0.97
4D2 18.86		500	342	359	0.95
4D3 18.87		500	354	359	0.99
4D4 18.89		500	349	359	0.97
4D5 18.92	2 12.59	500	353	357	0.99
4D6 18.86		500	350	357	0.98
4D7 18.86		500	357	357	1.00
4D8 18.9		500	343	360	0.95
4D9 18.84		500	349	357	0.98
4D10 18.88		500	355	361	0.98
4P1 18.93		500	346	361	0.96
4P2 18.87		500	343	360	0.95
4P3 18.86		500	338	358	0.94
4P4 18.86		500	340	359	0.95
4P5 18.85		500	339	359	0.94
4P6 18.9		500	342	358	0.95
4P7 18.87		500	340	359	0.95
4P8 18.88		500	352	358	0.98
4P9 18.9		500	343	359	0.96
4P10 18.91		500	344	360	0.95
8-H1-2 25.4		397	376	375	1.00
8-H1-1C 25.4		397	378	375	1.01
8-H3-1 25.4		448	401	453	0.89
7-H3-1 25.4		448	386	453	0.85
8S-H3-1 25.4		448	385	453	0.85
7S-H3-1 25.4		448	336	453	0.74
MLP25-1 20.00		422	215	506	0.42
MLP25-2 20.00		422	210	506	0.42
MLP25-3 20.00		422	211	506	0.42
MLP30-1 20.00		422	271	506	0.54
MLP30-2 20.00		422	266	506	0.53
MLP30-3 20.00		422	265	506	0.52
MLP35-1 20.00		422	306	506	0.60
MLP35-2 20.00		422	312	506	0.62

Test	d	t	F_{u}	$B_{r,test}$	$B_{r,predicted}$	$B_{r,test}/B_{r,predicted}$
Specimen	[mm]	[mm]	[MPa]	[kN]	[kN]	[-]
MLP35-3	20.00	20.00	422	310	506	0.61
MLP45-1	20.00	20.00	422	384	506	0.76
MLP45-2	20.00	20.00	422	365	506	0.72

Table 14 – Measured bolt diameters.

Bolt		d			A_b	
Number	Measured [mm]	Nominal [mm]	$ ho_{d}$ [-]	Measured [mm ²]	Nominal [mm ²]	$ ho_{\scriptscriptstyle A}$ [-]
4D1	18.95	19.05	0.99	282.04	285.02	0.99
4D2	18.86	19.05	0.99	279.37	285.02	0.98
4D3	18.87	19.05	0.99	279.66	285.02	0.98
4D4	18.89	19.05	0.99	280.26	285.02	0.98
4D5	18.92	19.05	0.99	281.15	285.02	0.99
4D6	18.86	19.05	0.99	279.37	285.02	0.98
4D7	18.86	19.05	0.99	279.37	285.02	0.98
4D8	18.90	19.05	0.99	280.55	285.02	0.98
4D9	18.84	19.05	0.99	278.77	285.02	0.98
4D10	18.88	19.05	0.99	279.96	285.02	0.98
4P1	18.93	19.05	0.99	281.44	285.02	0.99
4P2	18.87	19.05	0.99	279.66	285.02	0.98
4P3	18.86	19.05	0.99	279.37	285.02	0.98
4P4	18.86	19.05	0.99	279.37	285.02	0.98
4P5	18.85	19.05	0.99	279.07	285.02	0.98
4P6	18.90	19.05	0.99	280.55	285.02	0.98
4P7	18.87	19.05	0.99	279.66	285.02	0.98
4P8	18.88	19.05	0.99	279.96	285.02	0.98
4P9	18.90	19.05	0.99	280.55	285.02	0.98
4P10	18.91	19.05	0.99	280.85	285.02	0.99
5N6	18.83	19.05	0.99	278.48	285.02	0.98
5N7	18.83	19.05	0.99	278.48	285.02	0.98
5N8	18.88	19.05	0.99	279.96	285.02	0.98
5N9	18.83	19.05	0.99	278.48	285.02	0.98
5N10	18.99	19.05	1.00	283.23	285.02	0.99
5S1	18.83	19.05	0.99	278.48	285.02	0.98
5S2	18.85	19.05	0.99	279.07	285.02	0.98
5S3	18.82	19.05	0.99	278.18	285.02	0.98
5S4	18.83	19.05	0.99	278.48	285.02	0.98
585	18.82	19.05	0.99	278.18	285.02	0.98
5S6	18.82	19.05	0.99	278.18	285.02	0.98
5S7	18.82	19.05	0.99	278.18	285.02	0.98
5S 8	18.83	19.05	0.99	278.48	285.02	0.98
589	18.80	19.05	0.99	277.59	285.02	0.97
5S10	18.82	19.05	0.99	278.18	285.02	0.98

Bolt		d			A_b	
Number	Measured	Nominal	$ ho_{d}$	Measured	Nominal	$ ho_{\scriptscriptstyle A}$
	[mm]	[mm]	[-]	[mm ²]	$[mm^2]$	[-]
5T1	18.83	19.05	0.99	278.48	285.02	0.98
5T2	18.88	19.05	0.99	279.96	285.02	0.98
5T3	18.93	19.05	0.99	281.44	285.02	0.99
5T4	18.85	19.05	0.99	279.07	285.02	0.98
5T5	18.87	19.05	0.99	279.66	285.02	0.98
5T6	18.88	19.05	0.99	279.96	285.02	0.98
5T7	18.85	19.05	0.99	279.07	285.02	0.98
5T8	18.90	19.05	0.99	280.55	285.02	0.98
5T9	18.88	19.05	0.99	279.96	285.02	0.98
5T10	18.88	19.05	0.99	279.96	285.02	0.98
5D1	18.92	19.05	0.99	281.15	285.02	0.99
5D2	18.93	19.05	0.99	281.44	285.02	0.99
5D3	18.93	19.05	0.99	281.44	285.02	0.99
5D4	18.88	19.05	0.99	279.96	285.02	0.98
5D5	18.89	19.05	0.99	280.26	285.02	0.98
5D6	18.88	19.05	0.99	279.96	285.02	0.98
5D7	18.89	19.05	0.99	280.26	285.02	0.98
5D8	18.92	19.05	0.99	281.15	285.02	0.99
5D9	18.89	19.05	0.99	280.26	285.02	0.98
5D10	18.87	19.05	0.99	279.66	285.02	0.98
5P1	18.96	19.05	1.00	282.34	285.02	0.99
5P2	18.88	19.05	0.99	279.96	285.02	0.98
5P3	19.02	19.05	1.00	284.13	285.02	1.00
5P4	18.87	19.05	0.99	279.66	285.02	0.98
5P5	18.88	19.05	0.99	279.96	285.02	0.98
5P6	18.92	19.05	0.99	281.15	285.02	0.99
5P7	18.91	19.05	0.99	280.85	285.02	0.99
5P8	18.93	19.05	0.99	281.44	285.02	0.99
5P9	18.97	19.05	1.00	282.63	285.02	0.99
5P10	18.89	19.05	0.99	280.26	285.02	0.98
1-1	18.89	19.05	0.99	280.26	285.02	0.98
1-2	18.88	19.05	0.99	279.96	285.02	0.98
1-3	18.89	19.05	0.99	280.26	285.02	0.98
1-4	18.89	19.05	0.99	280.26	285.02	0.98
1-5	18.89	19.05	0.99	280.26	285.02	0.98
1-6	18.91	19.05	0.99	280.85	285.02	0.99
1-7	18.90	19.05	0.99	280.55	285.02	0.98
1-8	18.91	19.05	0.99	280.85	285.02	0.99
1-9	18.91	19.05	0.99	280.85	285.02	0.99
1-10	18.90	19.05	0.99	280.55	285.02	0.98
1-11	18.90	19.05	0.99	280.55	285.02	0.98
1-12	18.90	19.05	0.99	280.55	285.02	0.98
1-13	18.91	19.05	0.99	280.85	285.02	0.99
1-14	18.90	19.05	0.99	280.55	285.02	0.98
1-15	18.90	19.05	0.99	280.55	285.02	0.98
1-16	18.90	19.05	0.99	280.55	285.02	0.98

Bolt		d			A_{b}	
Number	Measured	Nominal	$ ho_{d}$	Measured	Nominal	$ ho_{\scriptscriptstyle A}$
	[mm]	[mm]	[-]	$[mm^2]$	$[mm^2]$	[-]
1-17	18.89	19.05	0.99	280.26	285.02	0.98
1-18	18.89	19.05	0.99	280.26	285.02	0.98
1-19	18.89	19.05	0.99	280.26	285.02	0.98
1-20	18.88	19.05	0.99	279.96	285.02	0.98
2-1	22.27	22.23	1.00	389.52	387.95	1.00
2-2	22.23	22.23	1.00	388.12	387.95	1.00
2-3	22.23	22.23	1.00	388.12	387.95	1.00
2-4	22.22	22.23	1.00	387.77	387.95	1.00
2-5	22.26	22.23	1.00	389.17	387.95	1.00
2-6	22.20	22.23	1.00	387.08	387.95	1.00
2-7	22.24	22.23	1.00	388.47	387.95	1.00
2-8	22.22	22.23	1.00	387.77	387.95	1.00
2-9	22.24	22.23	1.00	388.47	387.95	1.00
2-10	22.22	22.23	1.00	387.77	387.95	1.00
2-11	22.22	22.23	1.00	387.77	387.95	1.00
2-12	22.23	22.23	1.00	388.12	387.95	1.00
2-13	22.25	22.23	1.00	388.82	387.95	1.00
2-14	22.22	22.23	1.00	387.77	387.95	1.00
2-15	22.23	22.23	1.00	388.12	387.95	1.00
2-16	22.25	22.23	1.00	388.82	387.95	1.00
2-17	22.24	22.23	1.00	388.47	387.95	1.00
2-18	22.24	22.23	1.00	388.47	387.95	1.00
2-19	22.25	22.23	1.00	388.82	387.95	1.00
2-20	22.25	22.23	1.00	388.82	387.95	1.00
3-1	22.07	22.23	0.99	382.56	387.95	0.99
3-2	22.08	22.23	0.99	382.90	387.95	0.99
3-3	22.05	22.23	0.99	381.86	387.95	0.98
3-4	22.07	22.23	0.99	382.56	387.95	0.99
3-5	22.06	22.23	0.99	382.21	387.95	0.99
3-6	22.05	22.23	0.99	381.86	387.95	0.98
3-7	22.05	22.23	0.99	381.86	387.95	0.98
3-8	22.06	22.23	0.99	382.21	387.95	0.99
3-9	22.04	22.23	0.99	381.52	387.95	0.98
3-10	22.02	22.23	0.99	380.82	387.95	0.98
3-11	22.06	22.23	0.99	382.21	387.95	0.99
3-12	22.06	22.23	0.99	382.21	387.95	0.99
3-13	22.03	22.23	0.99	381.17	387.95	0.98
3-14	22.06	22.23	0.99	382.21	387.95	0.99
3-15	22.05	22.23	0.99	381.86	387.95	0.98
3-16	22.08	22.23	0.99	382.90	387.95	0.99
3-17	22.06	22.23	0.99	382.21	387.95	0.99
3-18	22.03	22.23	0.99	381.17	387.95	0.98
3-19	22.06	22.23	0.99	382.21	387.95	0.99
3-20	22.06	22.23	0.99	382.21	387.95	0.99
4-1	18.88	19.05	0.99	279.96	285.02	0.98
4-2	18.89	19.05	0.99	280.26	285.02	0.98

Bolt		d			A_b	
Number	Measured	Nominal	$ ho_{d}$	Measured	Nominal	$ ho_{\scriptscriptstyle A}$
	[mm]	[mm]	[-]	[mm ²]	$[\mathrm{mm}^2]$	[-]
4-3	18.89	19.05	0.99	280.26	285.02	0.98
4-4	18.88	19.05	0.99	279.96	285.02	0.98
4-5	18.86	19.05	0.99	279.37	285.02	0.98
4-6	18.87	19.05	0.99	279.66	285.02	0.98
4-7	18.87	19.05	0.99	279.66	285.02	0.98
4-8	18.86	19.05	0.99	279.37	285.02	0.98
4-9	18.87	19.05	0.99	279.66	285.02	0.98
4-10	18.86	19.05	0.99	279.37	285.02	0.98
4-11	18.86	19.05	0.99	279.37	285.02	0.98
4-12	18.88	19.05	0.99	279.96	285.02	0.98
4-13	18.84	19.05	0.99	278.77	285.02	0.98
4-14	18.86	19.05	0.99	279.37	285.02	0.98
4-15	18.85	19.05	0.99	279.07	285.02	0.98
4-16	18.86	19.05	0.99	279.37	285.02	0.98
4-17	18.86	19.05	0.99	279.37	285.02	0.98
4-18	18.88	19.05	0.99	279.96	285.02	0.98
4-19	18.85	19.05	0.99	279.07	285.02	0.98
4-20	18.85	19.05	0.99	279.07	285.02	0.98
5-1	18.88	19.05	0.99	279.96	285.02	0.98
5-2	18.88	19.05	0.99	279.96	285.02	0.98
5-3	18.90	19.05	0.99	280.55	285.02	0.98
5-4	18.87	19.05	0.99	279.66	285.02	0.98
5-5	18.86	19.05	0.99	279.37	285.02	0.98
5-6	18.88	19.05	0.99	279.96	285.02	0.98
5-7	18.88	19.05	0.99	279.96	285.02	0.98
5-8	18.87	19.05	0.99	279.66	285.02	0.98
5-9	18.85	19.05	0.99	279.00	285.02	0.98
5-10	18.88	19.05	0.99	279.96	285.02	0.98
5-11	18.87	19.05	0.99	279.66	285.02 285.02	0.98
5-11 5-12	18.87	19.05	0.99	279.00	285.02 285.02	0.98
	18.85	19.05			285.02 285.02	0.98
5-13 5-14	18.86	19.05 19.05	0.99 0.99	279.66 279.37	285.02 285.02	0.98
5-14 5-15	18.86	19.05	0.99	279.37	285.02 285.02	0.98
5-15 5-16	18.86	19.05 19.05	0.99	279.37 279.96	285.02 285.02	0.98
5-16 5-17		19.05 19.05	0.99	279.96	285.02 285.02	0.98
5-17 5-18	18.87 18.87	19.05 19.05	0.99	279.66	285.02 285.02	0.98
5-18 5-19	18.86	19.05 19.05	0.99	279.88	285.02 285.02	0.98
5-19 5-20	18.86	19.05 19.05	0.99	279.37 279.66	285.02 285.02	0.98
6-1			0.99			
	25.19	25.40 25.40		498.36 408.76	506.71	0.98
6-2	25.20	25.40	0.99	498.76	506.71	0.98
6-3	25.18	25.40	0.99	497.97	506.71	0.98
6-4	25.18	25.40	0.99	497.97	506.71	0.98
6-5	25.21	25.40	0.99	499.16	506.71	0.99
6-6	25.21	25.40	0.99	499.16	506.71	0.99
6-7	25.22	25.40	0.99	499.55	506.71	0.99
6-8	25.22	25.40	0.99	499.55	506.71	0.99

Bolt		d			A_b	
Number	Measured	Nominal	$ ho_{d}$	Measured	Nominal	$ ho_{\scriptscriptstyle A}$
	[mm]	[mm]	[-]	$[mm^2]$	$[mm^2]$	[-]
6-9	25.22	25.40	0.99	499.55	506.71	0.99
6-10	25.21	25.40	0.99	499.16	506.71	0.99
6-11	25.22	25.40	0.99	499.55	506.71	0.99
6-12	25.21	25.40	0.99	499.16	506.71	0.99
6-13	25.24	25.40	0.99	500.34	506.71	0.99
6-14	25.24	25.40	0.99	500.34	506.71	0.99
6-15	25.24	25.40	0.99	500.34	506.71	0.99
6-16	25.21	25.40	0.99	499.16	506.71	0.99
6-17	25.21	25.40	0.99	499.16	506.71	0.99
6-18	25.20	25.40	0.99	498.76	506.71	0.98
6-19	25.22	25.40	0.99	499.55	506.71	0.99
6-20	25.21	25.40	0.99	499.16	506.71	0.99
7-1	22.14	22.23	1.00	384.99	387.95	0.99
7-2	22.13	22.23	1.00	384.64	387.95	0.99
7-3	22.10	22.23	0.99	383.60	387.95	0.99
7-4	22.08	22.23	0.99	382.90	387.95	0.99
7-5	22.11	22.23	0.99	383.94	387.95	0.99
7-6	22.07	22.23	0.99	382.56	387.95	0.99
7-7	22.08	22.23	0.99	382.90	387.95	0.99
7-8	22.07	22.23	0.99	382.56	387.95	0.99
7-9	22.11	22.23	0.99	383.94	387.95	0.99
7-10	22.05	22.23	0.99	381.86	387.95	0.98
7-11	22.07	22.23	0.99	382.56	387.95	0.99
7-12	22.06	22.23	0.99	382.21	387.95	0.99
7-13	22.04	22.23	0.99	381.52	387.95	0.98
7-14	22.08	22.23	0.99	382.90	387.95	0.99
7-15	22.08	22.23	0.99	382.90	387.95	0.99
7-16	22.10	22.23	0.99	383.60	387.95	0.99
7-17	22.08	22.23	0.99	382.90	387.95	0.99
7-18	22.11	22.23	0.99	383.94	387.95	0.99
7-19	22.12	22.23	1.00	384.29	387.95	0.99
7-20	22.08	22.23	0.99	382.90	387.95	0.99
8-1	25.28	25.40	1.00	501.93	506.71	0.99
8-2	25.33	25.40	1.00	503.92	506.71	0.99
8-3	25.31	25.40	1.00	503.12	506.71	0.99
8-4	25.37	25.40	1.00	505.51	506.71	1.00
8-5	25.27	25.40	0.99	501.53	506.71	0.99
8-6	25.30	25.40	1.00	502.73	506.71	0.99
8-7	25.29	25.40	1.00	502.33	506.71	0.99
8-8	25.32	25.40	1.00	503.52	506.71	0.99
8-9	25.26	25.40	0.99	501.14	506.71	0.99
8-10	25.34	25.40	1.00	504.32	506.71	1.00
8-11	25.32	25.40	1.00	503.52	506.71	0.99
8-12	25.28	25.40	1.00	501.93	506.71	0.99
8-13	25.26	25.40	0.99	501.14	506.71	0.99
8-14	25.31	25.40	1.00	503.12	506.71	0.99

Bolt		d			A_b	
Number	Measured [mm]	Nominal [mm]	$ ho_{_d}$ [-]	Measured [mm ²]	Nominal [mm ²]	$ ho_{I}$
8-15	25.33	25.40	1.00	503.92	506.71	0.9
8-15	25.35 25.30	25.40 25.40	1.00	502.73	506.71	0.9
8-17	25.28	25.40	1.00	501.93	506.71	0.9
8-18	25.20	25.40	1.00	503.12	506.71	0.9
8-19	25.32	25.40	1.00	503.52	506.71	0.9
8-20	25.31	25.40	1.00	503.12	506.71	0.9
9-1	25.31	25.40	1.00	503.12	506.71	0.9
9-2	25.29	25.40	1.00	502.33	506.71	0.9
9-3	25.32	25.40	1.00	503.52	506.71	0.9
9-4	25.31	25.40	1.00	503.12	506.71	0.9
9-5	25.25	25.40	0.99	500.74	506.71	0.9
9-5 9-6	25.25	25.40 25.40	0.99	501.53	506.71	0.9
9-0 9-7	25.27	25.40	1.00	501.93	506.71	0.9
9-7 9-8	25.28 25.29	25.40 25.40	1.00	502.33	506.71 506.71	0.9
9-8 9-9	25.29	25.40 25.40	1.00	502.33	506.71 506.71	0.9
9-9 9-10	25.29	25.40 25.40	1.00	502.55 503.52	506.71 506.71	0.9
9-10 9-11			1.00	503.92 503.92		0.9
9-11 9-12	25.33 25.32	25.40 25.40	1.00	503.92 503.52	506.71 506.71	0.9
		25.40 25.40				
9-13	25.29		1.00	502.33	506.71	0.9
9-14	25.30	25.40	1.00	502.73	506.71	0.9
9-15	25.31	25.40	1.00	503.12	506.71	0.9
9-16	25.31	25.40	1.00	503.12	506.71	0.9
9-17	25.30	25.40	1.00	502.73	506.71	0.9
9-18	25.34	25.40	1.00	504.32	506.71	1.0
9-19	25.30	25.40	1.00	502.73	506.71	0.9
9-20	25.27	25.40	0.99	501.53	506.71	0.9
10-1	25.31	25.40	1.00	503.12	506.71	0.9
10-2	25.33	25.40	1.00	503.92	506.71	0.9
10-3	25.32	25.40	1.00	503.52	506.71	0.9
10-4	25.32	25.40	1.00	503.52	506.71	0.9
10-5	25.33	25.40	1.00	503.92	506.71	0.9
10-6	25.34	25.40	1.00	504.32	506.71	1.0
10-7	25.31	25.40	1.00	503.12	506.71	0.9
10-8	25.35	25.40	1.00	504.71	506.71	1.0
10-9	25.33	25.40	1.00	503.92	506.71	0.9
10-10	25.30	25.40	1.00	502.73	506.71	0.9
10-11	25.30	25.40	1.00	502.73	506.71	0.9
10-12	25.31	25.40	1.00	503.12	506.71	0.9
10-13	25.32	25.40	1.00	503.52	506.71	0.9
10-14	25.32	25.40	1.00	503.52	506.71	0.9
10-15	25.34	25.40	1.00	504.32	506.71	1.0
10-16	25.32	25.40	1.00	503.52	506.71	0.9
10-17	25.30	25.40	1.00	502.73	506.71	0.9
10-18	25.31	25.40	1.00	503.12	506.71	0.9
10-19	25.32	25.40	1.00	503.52	506.71	0.9
10-20	25.32	25.40	1.00	503.52	506.71	0.9

Bolt		d			A_{b}	
Number	Measured [mm]	Nominal [mm]	$ ho_{_d}$ [-]	Measured [mm ²]	Nominal [mm ²]	$ ho_{A}$ [-]
11-1	25.24	25.40	0.99	500.34	506.71	0.99
11-2	25.22	25.40	0.99	499.55	506.71	0.99
11-3	25.23	25.40	0.99	499.95	506.71	0.99
11-4	25.24	25.40	0.99	500.34	506.71	0.99
11-5	25.26	25.40	0.99	501.14	506.71	0.99
11-6	25.28	25.40	1.00	501.93	506.71	0.99
11-7	25.21	25.40	0.99	499.16	506.71	0.99
11-8	25.22	25.40	0.99	499.55	506.71	0.99
11-9	25.22	25.40	0.99	499.55	506.71	0.99
11-10	25.21	25.40	0.99	499.16	506.71	0.99
11-11	25.21	25.40	0.99	499.16	506.71	0.99
11-12	25.23	25.40	0.99	499.95	506.71	0.99
11-13	25.24	25.40	0.99	500.34	506.71	0.99
11-14	25.24	25.40	0.99	500.34	506.71	0.99
11-15	25.22	25.40	0.99	499.55	506.71	0.99
11-16	25.24	25.40	0.99	500.34	506.71	0.99
11-17	25.20	25.40	0.99	498.76	506.71	0.98
11-18	25.21	25.40	0.99	499.16	506.71	0.99
11-19	25.23	25.40	0.99	499.95	506.71	0.99
11-20	25.22	25.40	0.99	499.55	506.71	0.99

All the statistical coefficients for the bearing failures are summarized in Table 15.

Table 15 – Summary of statistical coefficients for the bearing failures.

Parameter	Bias Coefficient	Coefficient of Variation
"Professional"	$ \rho_{p} = 0.965 $	$V_{p} = 0.048$
Material	$\rho_{m} = 1.19$	$V_m = 0.034$
Dimensions	$ \rho_{D} = 1.01 $	$V_{D} = 0.013$

Based on the test results from Table 13, the resistance factor for bearing of bolts on steel, ϕ_{Br} , becomes (equation (18)):

$$\phi_{Br} = C\rho_R \exp(-\beta \alpha_R V_R)$$

= $C \cdot (0.965 \cdot 1.19 \cdot 1.01) \exp(-\beta \cdot 0.55 \cdot \sqrt{0.048^2 + 0.034^2 + 0.013^2})$ (26)
= $1.16C \exp(-0.033\beta)$

Figure 209 shows the resistance factor for bearing of bolts on steel, ϕ_{Br} , as a function of the targeted safety index, β , for different live over dead load ratios, L/D. The resistance factor according to [CSA 2001], $\phi_{Br} = 0.67$, is also shown on the graph.



Figure 209 – Results for the resistance factor, ϕ_{br} , as a function of the safety index, β , and of the live to dead load ratio, L/D.

D.4 Bolt Shear Failure

A reliability analysis was carried out on the test specimens that failed due to bolt shear in order to examine the resistance factor recommended by S16. For bolts in shear, S16 uses the following formula:

$$V_r = 0.60\phi_b nmA_b F_u \tag{27}$$

where V_r : factored bolt shear resistance of the connection

 ϕ_b : resistance factor for bolts

- *n* : number of bolts
- *m* : number of shear planes
- A_b : nominal cross sectional area of a bolt
- F_u : specified minimum tensile strength of the bolt(s)

The test results from the U of A tests are analysed and summarized in Table 17. The table also presents the actual tensile strength of the bolts, F_u , and the measured bolt diameters, $d_{,}$ used to calculate A_b as well as the predicted failure loads, $V_{predicted}$, and the resulting professional factors, ρ_p .

The value for *n* and *m* were 1 and 2 respectively for all specimens while A_b was calculated from the bolt diameter measurements of Table 14. The value for F_u was determined to be 945 MPa from the average of three tension tests performed according to ASTM A 370-05 [ASTM 2005a] on bolts taken from the same lot, see Figure 210 and Table 16.



Figure 210 – Engineering stress vs. strain curve for three ASTM A325 bolts.

Tension Coupon	F _u [MPa]	<i>E</i> [MPa]	<i>E</i> _r [%]
1	952	213,000	
2	930	215,000	
3	954	206,000	18

Table 16 – Results of tension coupon tests of the three tested ASTM A325 bolts.

The resulting professional factor ρ_p was found to be 1.145 and the corresponding coefficient of variation V_p was found to be 0.042.

The bias coefficient and coefficient of variation for the material properties, $\rho_m = 1.20$ and $V_m = 0.070$ respectively, were obtained from [Fisher *et al.* 1978].

The bias coefficient and coefficient of variation for the bolt area were determined from Table 14 to be $\rho_A = 0.987$ and $V_A = 0.006$ respectively.

Test	A_b	t	F_{u}	$V_{r,test}$	$V_{r,predicted}$	$V_{r,test} / V_{r,predicted}$
Specimen	[mm]	[mm]	[MPa]	[kN]	[kN]	[-]
5N1	280.89	15.986	945	349	318	1.10
5N2	280.89	15.996	945	362	318	1.14
5N3	280.89	15.912	945	371	318	1.17
5N4	280.89	15.959	945	338	318	1.06
5N5	280.89	15.995	945	382	318	1.20
5N6	278.48	15.89	945	402	316	1.27
5N7	278.48	15.98	945	375	316	1.19
5N8	279.96	16.03	945	391	317	1.23
5N9	278.48	15.95	945	351	316	1.11
5N10	283.23	15.97	945	352	321	1.10
5S1	278.48	16.02	945	352	316	1.12
5S2	279.07	15.98	945	351	316	1.11
5S3	278.18	15.91	945	362	315	1.15
5S4	278.48	16.00	945	357	316	1.13
585	278.18	15.93	945	349	315	1.11
5S6	278.18	16.00	945	355	315	1.12
5\$7	278.18	15.96	945	355	315	1.12
588	278.48	16.01	945	368	316	1.17

Table 17 – Bolt shear failure test results.

Test	A_b	t	F_{u}	$V_{r,test}$	$V_{r,predicted}$	$V_{r,test} / V_{r,predicted}$
Specimen	[mm]	[mm]	[MPa]	[kN]	[kN]	[-]
5S 9	277.59	15.97	945	349	315	1.11
5S10	278.18	15.99	945	359	315	1.14
5T1	278.48	15.95	945	373	316	1.18
BT2	279.96	15.980	945	381	317	1.20
5T3	281.44	16.01	945	358	319	1.12
5T4	279.07	16.01	945	346	316	1.09
5T5	279.66	16.02	945	361	317	1.14
5T6	279.96	16.01	945	367	317	1.16
5T7	279.07	15.92	945	347	316	1.10
5T8	280.55	15.95	945	366	318	1.15
5T9	279.96	15.99	945	379	317	1.19
5T10	279.96	15.98	945	395	317	1.25
5D1	281.15	15.98	945	346	319	1.09
5D2	281.44	16.00	945	347	319	1.09
5D3	281.44	15.95	945	388	319	1.21
5D4	279.96	16.01	945	379	317	1.19
5D5	280.26	16.02	945	360	318	1.13
5D6	279.96	15.94	945	372	317	1.17
5D7	280.26	15.97	945	355	318	1.12
5D8	281.15	16.02	945	356	319	1.12
5D9	280.26	15.95	945	377	318	1.19
5D10	279.66	16.01	945	380	317	1.20
5P1	282.34	15.97	945	347	320	1.08
5P2	279.96	15.98	945	380	317	1.20
5P3	284.13	16.01	945	351	322	1.09
5P4	279.66	15.99	945	355	317	1.12
5P5	279.96	15.97	945	379	317	1.19
5P6	281.15	16.00	945	351	319	1.10
5P7	280.85	16.02	945	352	318	1.11
5P8	281.44	15.95	945	362	319	1.13
5P9	282.63	16.00	945	348	320	1.09
5P10	280.26	16.02	945	380	318	1.20

Table 17 – (Cont'd)

All the statistical coefficients for the bolt shear failures are summarized in Table 18.

Parameter	Bias Coefficient	Coefficient of Variation
"Professional"	$ \rho_{p} = 1.15 $	$V_{p} = 0.042$
Material	$\rho_{m} = 1.20$	$V_m = 0.070$
Dimensions	$ \rho_{A} = 0.987 $	$V_{A} = 0.006$

Table 18 – Summary of statistical coefficients for the bolt shear failures.

Based on the test results from Table 17, the resistance factor for bolts, ϕ_b , becomes (equation (18)):

$$\phi_{B} = C\rho_{R} \exp(-\beta\alpha_{R}V_{R})$$

= $C \cdot (1.15 \cdot 1.20 \cdot 0.987) \exp(-\beta \cdot 0.55 \cdot \sqrt{0.042^{2} + 0.070^{2} + 0.006^{2}})$ (28)
= $1.36C \exp(-0.045\beta)$

Figure 211 shows the resistance factor for bolts, ϕ_B , as a function of the targeted safety index, β , for different live to dead load ratios, L/D. The resistance factor according to CSA [2001], $\phi_B = 0.80$, is also shown on the graph.



Figure 211 – Results for the resistance factor, ϕ_b , as a function of the safety index, β , and of the live to dead load ratio, L/D.